AFN-1564 BPH1C1

B.Sc. DEGREE EXAMINATION, APRIL 2011

First Semester
Physics (Ancillary)

MECHANICS,
PROPERTIES OF MATTER AND.S?UND

(Non-CBCS—2004 onwards)

Time : 3 Hours MMazmum : 50 Marks

Part A (5x2=10)

Answer any five of {nz questions

1. What are conservativetorces ? Give two examples ?

wIHPLeLWT awme sTeTmred eTevest ? B irever (b
2 _SMTETTHRIGET & hd..
2.  What are tiie four fundamental forces in nature ?
Bunensilleo 2 6o BI6wT(E) 3iiqLienL elengseT wmeneu ?
3. Detine centrepetal and centrifugal force? Give an
example each.

eoww CrréE wonib eww eNleE elens - euenTwim).

BreTT(H&H @D FHEVT 62(H 2_HTTETILD F(HS.



What is moment of Inertia? Give the Physical

significance.

Blemeown SmLUYSImem eTsImmed eTemest ? G 6T

PSS 1SS 6T1(PGIS.

State Kepler’s laws of planetary motioixs.

Canenaeflenr Quassdnaner. Colieofler eldaener

FoM)|S.

What are I-section gisders?

I Qeul (B (P& 25T S6iT 6T68TMT6V 6T6vT6NT ?

State Bern(i'i’s theorem.

QuiGiwaSullesr CammSeng snmi.

What is simple harmonic motion?

Ferfl& Fflens QuissLD 6T165THTEV 616560 ?
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9. (a)

(b)

Part B (4x7=28)
Answer all the questions.
Whatis friction? State the laws of friction. Derive

the relation between angle of frictivn and co-

efficient of friction.

2_TMl6| 6T6ITMITEL 6T6uT6s ? & Nl Slasemen Fonmis.
2 gmile| Gamewrd wHMIL-o-FTiielued (& emwrsD

pFweupBlnflenL_uiled = aiem CBTLTewL Snmis.

‘Or

Give a brief aceouat of work. Derive expression for

the work.Gare by a variable force.

Geuscee UMM M| GBI euenTs. WIMHID 6lenauimed

Qemwinl’ L Geuenevssnen wesLm_enL FhHed.
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10. (a)

(b)

11. (a)

(b)

Derive the moment of inertia expressions for a

circular ring about all axes.

(T eUEMETTLISS| 63T 676060 HF&S6TTIYILD 2 6iTer Hlemevln

SmLysdnenisanes Careneusnw olLm;

(Or)

Derive the expression for rorient of inertia of a

hollow sphere about ali axes.

@@ smedlwner Gateisdlen sreveon &aserlend
anu@Bwb Heweolr SimLliyS Slmenisanen Careneueni

(e

Explairi Roy’s method to determine G.

Gau Siwreflss 2 ge b Limiien (Wemnenw ellens .

(Or)

Explain the uniform bending method to

determine the Young’s modulus.
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ErTesT aUED6TE| (PEOM PPV WE (I 6WIS5 MG

Siwrefl& @ (penmenw elenss.

12. (a) Discuss the acoustics of a building.

s 1qL_miseflern eSlulwened LnM eNsunsd Gl&uwl.

(Or)

(b) State Bernoulli’s theoretn. and explain one of its

application in detail.

QuFGestmeSlwent CaOHnHens dni SiSH60 IHMeUT (T

LweTLImL_ewi— cl615@).
Part C (2x6=12)

Answer any two of the following

13. Aload ot 24 kg lies on aplane inclined at an angle 17°
to tie horizontal; the coefficient of friction for the
surfaces of the two being 0.36. Calculate the least
horizontal force required to make the load move (i) up

and (ii) down the plane.
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14.

SeoLwl LgHellprbg 17° Frleurs 2 eTem 66
gmniugnslest Coeo 24 £l.4l. stemL emeusasLiLIL (DeTerng).
Brewni(h FVHHM@SHW 2 6en 2 rmieilwed @Gewwrasn 0.36
e1evflev; 6t sTemL_emw FevgSlen () Cwev Crrsdluynd
(&) & Crradlywb parsSssnE Cae.uwner s
fflw Slew elemaenw sewstad (D).

A thin metal ring of diameter 0.6:n ¢ nd mass 1 kg starts
from rest and rolls down and-uclined plane, Its linear
velocity on reaching the fout of the plane is 5m/s.
calculate (i) the moment of inertia of the ring and (ii)

the kinetic energy ol rotation at that instant.

0.618 eqL_L_(p1d, 1. F.&l. eremL_wyid QsmevorL e(h Glweerflu
euememwid epl:eNeS(hhE @@ FTLFNSSenr GCed Hip
Crradl = mepdng. spslen Sp e FlensCGeusd
515/ 61 6160fl60 (1) euememugSlest Hlemeoio &lHLILSH memest

wOHMID () FPNHS Quss HYDHmenew setTsS (Hs.
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15.

16.

A wire of diameter 2.5mm is stretched by a force of
980N. If the young’s modulus of the wire is 12.5 x 1010
Nm2, find the percentage increase in the length of

the wire.

25015 oML 1b Qamewi @ swih I8ON eterm
lemgwred @(psasliLSng. SWLSIaT W (& 6wIsD
12.5 x 101 Nm2 ereflev, 601 fimedlev ermuBIb 55655
Bl@SHeow sesred 6.

Calculate the mass of*water flowing in 10 minutes
through a tube of rallivs 10~2m and length 1m having
constant pressurc of 0.2m of water. Assume co efficient

of viscosity ef wacer = 9x10~4 NS/m?2 and g = 9.8 m/s2.

10_2L8¢91.|.'lb, 118 Bemd wpmyd 0.215 Bflest Fynest 2(LpSSLD
Qarsi_ (h @pmulest eullGuwi 10 HILOIL_RigEhHs @ LimuLd
Bileo stemLemw sewiasfl(Ds. Brwgdlen undlweo stevor =
9x10~* NS/m? wpmib g = 9.8 m/s? erenr weuss

ClamemeneyLb.

sk
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AFN-1565 BPH2C1

B.Sc. DEGREE EXAMINATION, APRIL 2011

Second Semester
Physics (Ancillary)
THERMAL PHYSICS

(Non-CBCS—2004 onwards)
Time : 3 Hours Mesinum : 50 Marks

Part A (5x2=10)

Answer any five of ir.e following.

1. State Dulong and Petits law.

i wpmnn-Giis - eldlepw gam).

2. Define spezific heat capacity. Give its unit.

ges1 Qellu gOUSSHDEST - uDTUMI. ST 606N

BEC:

3. Define coefficient of thermal conductivity.

Qleuliu BL_Gg) 6T6v8T - eUEDTWIMD)].



Define solar constant.

GAw - wrled - auewTwm)

Give Claussuis - Statement of II-law

Qeutin Qusselwedlesr Qrewwrns eNdlsanen

Slemndlwendlest gappilement &(mHs.

What are isothermal and edichatic processes?

gwlleuliu Hawe] wNHDio CeuliuwrmmiLHm Klapey

6T63TLIG)| 6T6DT60T 2

What is entropy:

1651 Gt 9 eT6dTMH M6V 6T6BT6RT ?

Deiae macro and micro-states.

Cuw&Grm womib eowsEGrT-Hleneo-euenTwimi.
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9. (a)

(b)

10. (a)

Part B (4 x7=28)
Answer all the questions.
Define the two specific heat capacity of gases and

derive Mayer’s relations.

@m euryelenr Q@ ser Qeuliu e&mifimenes -
euenrwm| wHnIL Cowfler QgrFlle)er smedl.

(Or)

Explain Newton’s la= v cooling to determine the

specific heat capacivy ot a liquid.

QWM Jrausgder serbeulin  gnHYSSHMen e
Sioneflas _saw Huyl L neflen @efliey eldlenw
eXlemay ().

Explaii the measurement of thermal conductivity
by Forbe’s method

coGumrylles (pewm epevd Qeulil &L GG eme0

Siwrefl& @ (penmenw elenss.

(Or)
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(b)

11. (a)

(b)

12. (a)

Deduce Newton’s law of cooling form Stefan’s law.

evleooLinesfler eNSluleN BHg Hluy L revflem @erflrey
eNglemw zerdl.

Discuss entropy change during a reversible
process.

Wer QFwed wpeovmullest Cumgy cHu@WL stest_Crmil
LIHMHSHENG eXleund.

(Or)

Explain ii dctail the clausuis-claoeyson

equations.

Semndi e -senrlilfgres FwestUML_emwL. NS &S
eflax:fl.

Compare the three types of statistics.

epeuend Lemeflullweosensmujd UL B 611G

(Or)
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13.

14.

(b) Describe the relation between probability of
occurrence of a macrostate and its thermodynamic

probability.

@@m CuwsCrr-flened 2 (HeursE USHS T
aunuliys@wn e Ceuliu (@ ussellwed

eumiLLm @ 2 eTem QFTLTLlemest 6xli6ns: (.

Part C 2x6=12)

Answer any two of thi¢ following

Discuss the distribution ¢f two particles in two cells in

terms of the (1) M-B /11},B.E and (i11) F-D stastistics.

Om» fANwu gemnsstleo Q@ sisenasafles LSlTHSeme0
(1) M-B (i) b wom (iii) F-D  yemeflullwev epeoid

eXlenay ().

A body initially at 80°C cools to 64°C in 5 minutes and
to 52°C in 10 minutes. What will be its temperature
after 15 minutes and what is the temperature of the

surroundings.
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15.

e QunmeT o rbLsHled 80°Cev 2 smeng). 5 AlflL_sHlev
64°C gaed 10 AblLgde 52°C aeb
&eflieuenL_dmg). 15 Blibl_miser sfl58 oiL16lumerfles
Qeuliuflemev eteusueney wHMID @Gpedes Glsutiufleneo

6T6UEU6TTEY ?

A black body of man 32gm and speciri: heat 0.10, area
8 sq.cm and temperature 329°C is put inside an
enclosure which is surrouasied by ice at 0°C. If the
temperature of the body talis at the rate of 0.35°C/sec,

calculate stefan’s coustant.

32gm Hleom, et~ Cleulin erevor -0.10, Lpliuene) Scm?
oD GeuLiii!meo 300°C Glnewst 62(h S(HLIL GlLM®eT,
0°Cev 2ueenm ueflaligsenned GUUULL @
QuLicenien eweussLLL (eTeng. oLi6lLimmefle
Qaiitiflemeo 0.35°C/sec stesip eigsdle0 @HmDHSTED,

evLeooLImesfles rhleSlenw sewtad (D).
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16.

A carnot’s engise has an efficiency of 50% when its sink
temperature is 27°C. What must be the change in its
source temperature, so that its efficiency may become

60%?

@@ snjern Quindlrsdes Gleulin esn1sh 27 °Cev 2_etem
Gurgl, Qupdlrsdlen Quassdnen.50% o5 2 emeng.
iFenr Oeuli epevgdlen Gleulitiflencoulley eT6u66T6oY
LINGe HULL M0, QuihSre Heor QuisssSnen 60%

SbBD?

kg
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AFN-1566 BPH3C1

B.Sc. DEGREE EXAMINATION, APRIL 2011
Third Semester

Physics (Ancillary)
ELECTRICITY AND ELECTRONICS

(Non-CBCS—2004 onwards)
Time : 3 Hours Mesinum : 50 Marks

Section A (5x2=10)

Answer any five of (r.e questions

1. State Gauss’s law in electrostatics.

anerdlest e flevwis g.my

2. Find the loss oi energy due to sharing of charges

between tvre'vapacitors.

B® iar CgsdlaEnadlenL_Gw 2 etem WlemanL L rmigsiT

Genvwtuyb Cung gHUGD YHMeo BPLienLIS STeDTs.

3. State Kirchhoff's laws.

Syggnii-Nlen ellaenens gnmi.



Why parallel resonant circuit is called as rejector

circuit?

UsS 5Smea s &OM g6r Nlevs@GHE &DMm| eTem)
owssLuBEng ?

Draw the forward and reverse bias cliaracteristics

curve of an PN diode.

@ PN enL_Cumgen (penrGemn@ womin enGestns @,

gy HmLiY euenTHensT 6 68:78.

Mention the types oimodulators.

uewrGumHM (Losam semer elleul.

Find theyalue of x in

(a) {75)10 = (x)z

(b) (10110110), = (x);,
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x 651 Sllienu QlLm)s.
(a) (75)10 = (x)z

(b) (10110110), = (x);,

8. Draw thelogic diagram and truth table fo; XOR gate.
XOR Galiges apniliuL_geng, 610 Thg s m@LiL
I|L_L_euemessTenww|d &r_(b).

Section B (4x7=28)

Answer all guestions.
9. (a) Using Gauss’s law find the electric field at any

point outsidea crarged sphere.

& 1 endl 6v1 Ndlemw s vweru (&8 @ (H
Wlestenri-L Lin L. Carengdlen Gleusrfliii@dulleo

5 IO ST EVGMSHS ST6THTs.

(Or)
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(b)

10. (a)

Derive an expression for the capacity of a
cylindrical capacitor. Explain the effect of
introducing a dielectric medium in between the

two cylinders.

@@ 2 hewen WesiGCasdlullenr G5 E G5 nean)ss ne
Canemeuenw eumedl. h eyl GClunmenens

Carliugmeo LD eSlememens.: oil6ms@s.

Explain with relevar’ theory how the Carey
Foster’s bridge is.used to determine the

temperature cocttizient of resistance of a wire.

Cafl urevLi Wetanenpl LweTLuBS5H @@
swNullsn BergenL GCleuliLifleneo 616t 6w 6w
gt saTOUgsEs0ND UM FH5&55

eN617556.| M TU|L_6T Sl

(Or)
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(b)

11. (a)

(b)

Explain the theory of LCR series resonance circuit

and derive an expression for resonant frequency.

Qg LCR a&pniiles oemwly woHmiwb
Qewerurien, eNleuflgs se1 oHHlemaay
31 5 76 61 6507 69 6571 & & 6901 () L9 10, L L1 & 1D & T 6T

FeLm_enL eu(he.

Describe how a Zener diode can be used as a

voltage regulator.

@@ ey ewL_Cuimen sTeueunm| 6(h leTes (PSS
BlemeoLiLimenna Liwesi(BSs Quieid etevr efleuil.

(Or)

Explain AM Transmitter with neat block

diagram.

AM uemtuened LU DT &GHbS LIL ST L 60T
eleufl.

5 AFN-1566




12. (a)

(b)

With neat logic diagrams, explain how NAND
gate is used to construct OR, NOR, AND and NOT

gates.

@®GNAND Gaslem U nwetu®sg ereraurmy OR,
NOR, AND wpmniib NOT CaL_senen 2.(;a185860mD
TTLENS $55 0MMNS EUEDHTLILEIHEN6T 6UEDTHI)

eXlemay ().

(Or)

Explain the action'at the following :

(1) two input AN gate

(i)two input OR gate with its electrical circuit.

Yemer (Heustiaupmlesr Geweouriewr &&58&

Bevamenmns Clanewst(H eSleui

(1) @reser( 2 erafDser Qanesor s AND GaL

(i) @revor(® 2 erafBaen Glanewr g OR Ga
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13.

14.

Section C 2x6=12)

Answer any two questions

A parallel plate capacitor with air between the plates
has a capacitance of 10pF. What will be the
capacitance, if the distance between tne plates is
reduced to half and the space between tnem is filled

with a substance of dielectric constant 6 ?

smoml Blriuliul L e enemras (H WestGCrrsdluf e
WlennCxa@ Smenr 10pF. sl (DaseEnsdlen_Gw 2 emem
Qarenevey LTSlwns GemmarsuLL (H iFesr PenL_Gleusl
Wlesrariiy wrmled 6 Glatedr Wesamiiy Clummermed

Briuiu@®@w Qures LrssICas@ESHme sTeuaisTe ?

A coil is connectea across 250V, 50Hz power supply
and it draws a Current of 2.5A and consume power of

400W. Find the power factor.

250V. bUHz Qanewor Slmer gemiiluies GmisCa e
snlly s&@meT Qevewrsasliul(HeTeng. & 2.5A
BerGerm_LGeng sS85 Ganem® 400W SHmenen
2 I Qanatdmgl, sTermned g est Smesr srevflenw s

&H65T&HSE (D)5,
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15.

16.

Find the operating frequency of the Hartley oscillator
if L, = 1000uH, L, = 100uH, M = 20uH and C = 20pF.

L, = 1000pH, L, = 100uH, M = 20uH wpmib C = 20pF
etesfled ammi_Gev emeoullwimniies 7 Clo.ssvTemevoras

ST6U0TS.

(a) Discuss the basic laws and tiesrems of Boolean
Algebra.
(b) Verifythat C(B+ C)(/av-B+C)=C

(@) weSlwes 0919y el 6ot & &l & em 61T Uy LD

Canmmgens s 6ons @ s.

(b) CB+CrA+B+C)=C eterr HlemLil.

sk
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AFN-1567 BPH4C1

B.Sc. DEGREE EXAMINATION, APRIL 2011

Fourth Semester
Physics (Ancillary)

OPTICS, SPECTROSCOPY AND
MODERN PHYSICS

(Non-CBCS—2004 onwards)

Time : 3 Hours MMazmum : 50 Marks
Section A (5x2=10)
Answer any five citiie questions

1. If pu, = 1.65 and z. = 1.55 for a glass prism of

refracting angle 10", then find the angular dispersion.

10° Canemtiiper_w Seworewinly (PLULL L. && e
ty, =1.65 wimib u, =1.55 erevflev giz681 Canewsr Lflews

56&”@6.'\;..

2. Deinie Dispersion of light.

eefluflesr BlpLiSliflens — euenrwimy.



Why is the central image of Newton’s ring dark?

Bupl L e euemenwslest BOUNIDUL &@HeOWLW TS

B mLiLg) er6vt?

What is meant by f number?

f e16%0T 6T6BTIOMEL 6T6TTENT ?

What is meant by grating elemeni?

Snmewflullen 2 miLiLLiLES ersvipied eTeotest ?

What is a Zone Plate?

LD6UDTLG 605 SL_ (D) 6TETINT6V 6T6BTEUT 2

Define “Dopylesidffect” in light.

gefluiweR=> Lrleny elleweney unnl euenTwm).

Meniion any four applications of Infra red radiations.

JsFdauliy & 8 17 & erfl 601 aCGgeib  Bren (S

2 LGwrsRiISemeTs GNLULNIHS.
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9. (a)

(b)

Section B (4x7=28)

Answer all questions.

What is meant by dispersion? Define dispersive
power. Derive an expression for the dispersive

power of a prism.

Bpufflens stermmed eTemras? (WpLULIL L &5 6v1
WASpenr euemgwml. pLUULLSWD qermen
Bnlifflenss Spenisarat Saremeuenw s &mHellss.

‘Or

Explain how we narrow angled prisms can be

combined ta produce

1) _icpersion without derivation and

1) Derivation without dispersion.
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10. (a)

(b)

&m ©Gndu Canmewr(p L L &mi&emerL

LwesTL (S eTeueumm)

1)  dlengwrppiess) Hplifflens ;

il) Boudflensulesn) SepswrHmd 2 2 alisseomD

cTeTLeng eSleufl ?

Describe the construction of < emin’s Interfero
meter. Explain how it is uszec to determine the

refractive index of a gas:

aomdlest GnisEL_ O elemenaywneflulesr jemwLienL
eleufl. emas Ol mHrsvor(D b eumuwjedles eerfl edlevased

6T633T 6TeuUMN| =TS L_LILI(Q\E D) eTestLIens elleufl.

(Or)

Give the theory of Newton’s rings and obtain an

exnression for the radius of the nth dark ring.

Blupl L 6ot euemsmwmisefles GQameTensenis dnmis.
nepeug SmHevwelmeTwSSles TS na e
Caneneuenw s gmedl.
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11. (a)

(b)

12. (a)

Distinguish between Fresnel and Fraunhofer

diffraction.

UGlresred  wpmid  UrrerGanruy  elerfliby
elemenaysemem CounLI(H'SIIs.

(Or)

Obtain an expression for the ‘hickness of a half

wave plate.

OIMT MVG FL g1 Flg oen)|Hanest ComremeuenuiL

Cumis.

Mention the properties and uses of Ultra violet

radiatiops.

Lm 2508 sl iseflen LissuTLse mmILD LILI6iSenens

aolul(hs.

(Or)
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13.

14.

(b) Explain Zeeman effect.

2Sonent ellememellement efleufl.

Section C 2x6=12)

Answer any two questions

Two thin converging lenses of 0.4 and 0.5m focal
length are placed coaxially 0.1:n apart. Find the focal
length of the equivalent ler=.

0.46 wopmib 0.58. elwgtrpenLw @ revr(®H
Glellevenevgen LiezinPlipSlen_CGuw 0.118 Cgremev
Bma@wrn VfGg weasslLGEDg) sefle o eunnsles
Qg @ LWt (A6 MUSHTTSHDSS Hesuréd (Ds.

Find the radius of Curvature of the lens and lens used
in Newton’s rings with the light of wavelength 5890A°,

the-diameter of the first dark ring is 2mm.

6 AFN-1567




15.

16.

paflllesr gemeBerd 5890A°, wse amemw
ausmenws e L b 2mm GQar@&slul(Herenens
vwetu®sF Hupl L em euewmemwid 2 (HeuTs
2 LGwrsLL@®SH W eNlevemeoullen auemeTL LTSHMDSHH

&H65T&HSE (D)5,

What is a quarter wave plate? Obtain an expression

for the thickness of a quarter wav= piate.

&6V IWEVSSL_(h) 6TETMNED 7T ? SM6V J|6M60F FL_Lg 68T

SIqLDEMEBIS HTTTLISHST6r GoMemeuenuwill GlLim)s.

Write an essay on “ITM.R”,

“NMR” upaf) 5 (607 61(1p&15.

skokok
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AFN-1568 BPH3C2

B.Sc. DEGREE EXAMINATION, APRIL 2011
Third Semester

Physics (Ancillary)
BASIC DISCRETE ELECTRON!<.C

(Non-CBCS—2004 onwards)
Time : 3 Hours Mesinum : 50 Marks

Section A (5 x2=10)

Answer any five au=stions.

1. Give a short note on N «.tyne Semiconductor.

N - euews GeopsL Alew uPnl Ani@GNLIL auenrs.

2. Draw the cirtcrit diagram of a half-wave rectifier.

QT 6ar emev HmsSHulles WlemmanmiLILIL S5 e es

alenIIa|LD.

3. Define Current gain of a transistor.

iqrrestendlevL_flesr WlesrGevtmi L eomUID euemTWeEnM ClFUIs.



Mention the types of FET.

FET-6t1 euemasenens @MU (H\s.

What are the characteristics of an amplifior

Q@ LSS udl6tT LIGTUTLS6T Wimemen ?

What is a feedback circuit ?

N eTEL_ L &DM| 6TETMTEN sTsT6uT ?

Draw the block d*agram of an OP-AMP.

~
i

@7 Qurig Chipadlullen LIS uLSHener euenrs.

Whatic'an unity gain buffer ?

@rev@ ClLmsEl eTetTmmev eTevTovT ?
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9. (a)

(b)

10. (a)

Section B (4 x7=28)

Answer all questions.

Explain the working of a full - wave bridge

rectifier with its circuit diagram.
QT (PP Siemev LNevSS S ullrir QlFweoLIm_iqemewt
SIB6n &OMIL LIL_ G| 6s1 el

(Or)

Describe the actior. ¢f zener diode as a voltage

regulator.

Berf ewLlwr( Weempss FrenwLliLinerns

Rrweoi(hia:eng a6 @s.

Exvicin the working of a CE mode transistor with

iLseircuit diagram.

@@ Ourg o blpliures 1qrresend e fleor

OlFweoLIN_I1q6men G 6T SHHMILILIL_SFIL 60 eleull.

(Or)
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(b)

11. (a)

(b)

12. (a)

Derive an expression for FET parameters.

FET- 61 snrewflsempsaner Careneusener aumeil.

Explain positive and negative feedback. What are
the advantages of using negative fiedback in

amplifiers ?

Crriemenm L b woHmID 6Tl ieaenr b umn
Nena@s. OCumadlaefles . edlillesrapr L b

2 LIGWIsLILI(HS3I6UST60 6TM! I(bitD HESTEHLOSET UITEHEL ?
(Or;

Explain the action of voltage series feedback

circuit.

Wlemrest(pS5S LiSTLT Qenewtii Westenr L &mnples

QFweoLIT 1 emert 6Nl6TdEH5.

Exglain Non inverting and Inverting OP-AMP

gireuits.

YrlLeopm womnbw Yrl@Gon Quri@ Cumss
&omisenen edeuflasea.

(Or)
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(b)  Explain the action of OP-AMP as a summer.

BuriGLL®mES gl (Peurens GleweL(Bealemns
Meuflss.

Section C 2x6=12)

Solve any two problems:

A4

13. In a Bridge rectifier circuit, if. V. = = 9V, calculate

Vp and Vie

2 uresmsd) Wlenani'sv, V. =9 Veefledo V ioHmid
V4 SFweupenms sl (016

14. The current giin p of the Si transistor used in the given

circuit is 50. Vgg = 0.7V. Find (i) I (i) I, (iii) I,

T —————g

(kng

- loV
I
1o ko

2y

L
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15.

16.

Qar(sasLuL_(Hsier Wenamnmled LwLESTLI(HSSLILIL g (HS@HLD
Si igrremedlev_flesr WesrGeormil. eoruw B = 50
Vpg = 0.7V aefleo Iy Iy wpmid I, pdlweupenm

&H65T&HE (D)5,

When negative feedback isauplied to an amplifier, the
gain reduces from 100 te.5C. Find the feedback fraction.

@ Cu@maHulev stdliiersnn L b Gler(R&sLLHILELITE)
Sig6ut eomuid 100 6)l( el 50 188 GHennamg). eenm L

NesterSemss seared (Hs.

Find the output of the ideal OP-AMP shown in Figure

for each. ¢t the input signals.

39kn

v A \—
in
p e — Vo
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(@ V., =120mVdc
(b) V. =0.5sinwtV

(¢ V., =-2.5Vdec.

SP&HTL. ealbleun@m 2 eraf() &L&ens 8 EHs GW,
uLsHev asrewllssliul (Heren Was dHpbs Qwikis

RQumaSullen GleusfluiLiqemeuts serTLDis.

2a N
—\AWV\

Iskn
V. ‘—“‘WV\—-—J—\
n | \/_________* Vo
5

N

(@ V. =420mVdc
(b) V.0=0.5sinwtV

(¢ V., =-2.5Vdec.

sk
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AFN-1569 BPH4C2

B.Sc. DEGREE EXAMINATION, APRIL 2011

Fourth Semester
Physics

APPLICATION OF ELECTRONIC DEVICES AND
INSTRUMENTATION

(Non-CBCS—2004 onwards)

Time : 3 Hours MMazmum : 50 Marks
Part A (5x2=10)

Answer any five citiie questions

1. Define the sensitivitvefa Multimeter.

6o resflullesr s FSmenest euemTwim).

2. Draw the block diagram of CRO

CRG sw1 5L L5698 auenrs.

3. Briefly explain the need for recorder.

udle|wreflulesr Caemeuenw sHESLLNS 6Xl6msEs.



What is Electromyography?

61605 L_CrremwGuindlymil stesrmmev eT6vTenT 2

Draw the equivalent circuit of SCR.

SCR @est gwiwoner e snmlenest euenrs:

Write any two applications of DIAC.

DIAC@es iCaenib @revsr 2 LGWnsmiIsenen 61(1&I5.

Explain the working p:inciple of electric fan.

Wlenrsmmmmg @uwii @b S5 6uGe0g 616G s.

List down the different types of Washing Machine.

sy Quidlrsdlen GeauauGoum euenssemen

auflensliL(HSSs.
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Part B (4x7=28)

Answer all questions.

9. (a) Whatisa Multimeter? How does it work?

ueownefl eTeTHIEL eTeIEM? & eTeUEITM)

QrweoLRSng) ?

(Or)

(b) Explain the working principle of VIVM.

VITVM@sest Gaweoviin:_ (B $5816u5605 elend @s.

10. (a) ExplainX-Y 1ecorder.

X-Y udlagnresfleows umnd eNeufl.

(Or)

(b) Explain the working of ECG Machine.

ECG @uidlrsdlen GlaweoLiniqene ell6ns@s.

3 AFN-1569




11. (a)

(b)

12. (a)

Discuss the working of a UJT with its circuit

diagram.

UJT@enr Qeweounigemes gemm lewmamnm
UL S&IL 65t edleulfl.

(Or)

Describe the construction ot @ TRIAC and explain

its V-I characteristics.

TRIAC gennlest ennlienu eSleuflgg, ges V-1
fAoLiy euenrseneT! Lunm ellens@s.

Explain tie working principle of refrigerator.

Gefiargers  Guliqguiess OGeweourl B

FHegauGemg eleull.

(Or)
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13.

(b) Explain the different types of Tape Recorder.

ueoGeumy edswren el BILr uHedaeners LD
eNlems @ s.

Part C 2x6=12)

Answer any two questious

A galvanometer has a resistanc= vt 20 Q. It shows full
scale deflection for a currert of ImA. How will you

convert the galvanometoer into a voltmeter of range

OtolOV?

@@ sreveaGerm SLi flesr Wengen 20Q. @& 1mA
BerCem_ s n@ W Nevsenensd Glard s @
8 5 6m v Vel 68 (H b & 10V 61 69 17 udl 60 I 6w

WerenongsSlemen ens@Gn Geumeol 151 L s

(Wbl pSSonesfling) eTeueumm| LOAMHDEONLD ?
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14.

15.

16.

In a Uni Junction Transistor n = 0.8, Vp =10.3 Vand
Ry, = 5 kQ. Determine Ry, and V.

UJT giemwiiflev wpmud m = 0.8, V= 10.3V wpmid
Ry, = 5kQ arevfleo Ry wpmin Vppeow semrcslps.

Explain the working of EPG machine witn a neat block

diagram.

EPG Quidlrsdles Qewerirligenen s6s S L

euenTLLS&IL 6T 6Xl6nd@a.

Explain the function. o' Air conditioner.

&eflepLig Clgi 60 1D NF5ms eNlens@s.

skkok
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AFN-1570 BPH5C2

B.Sc. DEGREE EXAMINATION, APRIL 2011
Fifth Semester

Physics (Ancillary)

SIMPLE CONTROL SYSTEMS AND
APPLICATION OF IC’s

(Non-CBCS—2004 onwarAds)

Time : 3 Hours Mazimum : 50 Marks
Section A (5x2=10)

Answer any fiv= yuestions
1. What is the use of tatho generator?
QL&Car (tache) Wica gmmenev ellemenails@w Glum
6T63TMITE) 6T6UT6UT 2
2. Give two appiications of thermostat
QgrGwrenvLm (thermostat)ufesr @revor(d LwesTSHEM6T
6T(LOSI5.
3. Whatis the basic principle involved in loud speakers?

@6l Oumsdl B SSH IigLliLenL ulled
Burigdng ?



What is meant by thermistor?

Qarfevi (Thermistor) eteormmev etevTewT ?

Give some examples of primary memories

waesemw Klenemaussin@ et s:ssHs ST(H
F(HS.

What is the basic principle inizolved in CCD?

CCDWlletr o1 ILIDL HHT UGG 6T(LPGI.

Why are Totem-zele iransistor used in TTL circuit?

eresr Totem:rile 14Cremevflevemy TTL ulesr ammlev

Lwest (5SS mmFaei ?

Whatis virtual ground in an Op-Amp?

wrenws geor (virtual ground) etestmmed etevtenT ?
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9. (a)

(b)

10. (a)

Section B (4x7=28)

Answer all the questions.

Explain the principle of working of a DC servo

meter.

DC &7Geur wresflules g5g6uHema UL D euenTHS)
aeul.

(Or)

Describe about PID ¢ontrollers

PID sestCreviison jemwLienu LIL LD euenrhg edleufl.

Explaiiie principle of working of photo voltaic

cells:

seofliflesT (558 HvGmg eleufl. g eTeueumm)
Ceuemev QFWISNG) 6TEvTLIENS 616118 (&HS.

(Or)
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(b)

11. (a)

(b)

12. (a)

Describe about crystal microphones

Ligs WenblestmeSlLiumest (crystal microphone)emuwils

umnl eSleurl.

Write an essay on semiconductor i en ories.

Gon sL58 Henesausgsnml unD sl (Henr
61(LDGI5.

(Or;

Write an essay on 1C fabrication technology.

Qan@ Ly &nny Q&b (penpenw Clgefleuns elleufl.

Draw»nd explain the functional block diagram of

IC-£55 timer.

IC 555 G Siemwiifen QFwunHgamn euenTLL Sens
eUEnTH 66T EHS.

(Or)
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(b) Write an essay on Op-Amp parameters.

BuniE umsd eeler sryenflger (parameters)
ups R SL_(D\6OT 6T(LPSIS.
Section C 2x6=12)

Answer any two questiorr.

13. What arithmetic operation, the given circuit can
perform? Establish your ansvver.

@3 op-ampulest s &nBHled gHUBL seaflg
QewerurienL el Hs. 2 eaenL ellenLenws

Qaresor(n sflumy.
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14.

15.

In an inverting op-amp. The input resistance R;=20kQ
and feedback resistance R; = 100kQ, calculate the
output voltage and input current, if the input signal

is 1V.

@o» Souy Quassl CQumsdulles s el _(h S
R;=20kQ fenggmn’ L gew R, = 100kQ wpHmibd
2 emefl_(h ewgems 1V eefleo, Eiaudmdlen QeusfluSi (B,
Westerm(pssw LOHNIL 2 6T6f-h WerCearm_ L S0

&6se1(pILYlLg..

Draw the clock way=fcims and output signal for the

CCD.

CCDWletr sianmny jemeoulles jembLienLIW|D WHMILD
pemienL.w Gleusfluif (B emeouilest jemipLienLiu|Ld

UL LN DTS,
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16.

A resistance strain gauge has Poisson’s ratio pu =0.35.
It is fastened to a steel member subjected to a stress of
1200 kg/cm?. The modulus of elasticity of steel is 2.1 X
106 N/m?2. Calculate the fraction change AR/R of the

gauge element due to the applied stress.

Strain Qu®m&sss senuler umignes endlgw p =0.35
(Poisson’s ratio), 9ip&sib (stress) 1200 kg/em? 181 A
seenw 2.1 x 108 N/m? @rren e185 erevorenflp @
2 Ll L gy, etesflev. Gleuerfl @ipssb Cleweou@mb Cung
gy gnu@db Gearwwropsens AR/Resw
&6se1(pILYlLg..

—_— kX
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AFN-1571 BMA1C1

B.Sc. DEGREE EXAMINATION, APRIL 2011

First Semester
Ancillary : Mathematics
ANCILLARY MATHEMATICS- -\

(Non-CBCS—2004 onwards)
Time : 3 Hours Mesiinum : 75 Marks

Part A (5bx3=15)

Answer all quesiions.

1. Write the formula for (1.x)™.
(1-x) " -sam6em GSHITEWS 1SS

2.  Form the third Gegree equation, two of whose roots are
—iand 2.

—1 HMID. 2 TN PEVEIGEN TS ©l&MeTTTL oL 65T M)

FesTL T (DLILILG. SHTEsoTs.

3. If (1,2) is a point on a curve y; =4, y, =6, find the
centre of curvature.
(L,2) @wm eusmemeuenyulled ef yemefl y, =4, y, =6,

61651160 | FH6VT EUEDETE DLW SHENSE SHTETUTS.



6.

Find '[12 (x3 + 2x2 +5) dx.

'[12 (x3 + 2x° +5) dx o LI sT6TwTS.

Separate into real and imaginary parts of tan™ (x+ iy)

tan™ (x+iy) -6 Qi wHMID FHUmET LGS semen

S8 610515

Part 8 (5x6=30)

Answer an{ive questions.

Prove that

logse —log, e +logy, e —logg e+ ... = log; 2.

logse - logge +log,, e —logg e+ ... = logs2 etew
Hoieys.
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Find the sum to infinity of

1 1.3 1.3.5
— 4 - + ot
4 48 4.8.12

1 1.3 1.3.5
— + - + ot ©
4 4.8 4.8.12

et G GmLiflew

o (DSH6V SHTETUTS.

If a, B, y are the roots of x® + g b =0 find Zaﬁ.

x> +ax+b=0 665D FORTLML_Iq60 pPEOMmIGET o, 3, ¥

eT6vfl60 Zaﬁ - 6871 SILIL! &I svoTS.

Using Newton’s niethod, find the root between 0 and 1

of x® = 6x — A-<orrect to 5 decimal places.

x® =624 etetim FweTUTL g6 pevmiger 0 (wgeo 1

auemTileonesr wHllewu 5 v HSHWLIE Hlu,l L e

(pemnemwll LweTU (DS &nesurs.
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10. Find the radius of curvature for xy =30 at the point

11.

12.

(3,10).

xy =30 & (3,10) ettt yemaflulev euemeney TS5

ST6T0TS.

T i3 2
Prove that I 7 sin® x dx = 3
0

I%singxdxzz
0 3

etent Blm e,

f L= I 7% xtcesx dx then prove that
0

In _j" /9 x" cosx dx s168f] 60 In = (%J — n(n _]_) In—2
0

eTewt Elmi6 5.
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tan o 2524

13. If —— = 5o find 9.

tan® 2524 . ) ) _
0 2593 e1esfled @ et LI Sevors.

Part C 2 x 15=30)

Answer any two questivns.

1 1 1-1 1 1
14. (a) Show that 1+§-g+,—y—+—-—+...oo +

5 AFN-1571




(b) Sum the Series :

1+2 1+2+3 1+2+3+4
+ + + +....00
21 3! 4!

1+2 1+2+3 1+2+3+4
+ +

T 31 4wt eaen

Qgrflen g (HSH6V SHM6seTs.

15. Find the positive root between 1 una 2 which satisfies

16.

x2 — 8x+1=0 to3decimal pla~esby Horner’s method.

1 g6 2 euemmuiled x3 =« 5x. 1=0 6eT651D FLOETLIM 1631

Beop wesems 3 sz Hmsssdler annjenfler

(PewmenuwILs LiwesTL (h &G-S meuoras.

(a) Find the radius of curvature at the point ‘¢’ of the
curve

x.> a(cost + tsint)y = a(sint —tcost).

x = a(cost + tsint)y = a(sint —tcost)setenm

eueneusnTulles ‘¢’ Lemerflulley euemeney LTI SHNETDIS.
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(b)

Find the radius of curvature of the curve
r=a(1- cos 0).

r=a(1-cos 0) s6tm euesTeuEnTUNEI CUEMETEY Y TLD

ST6U0TS.

17. Find a reduction formula for I 72 sin" x dx and hence
0

deduce I g sin® x dx.

0

I/ZSiHHde-sh GENLUE GS5HNTSMSE ST65s.
0

315 e HHEI I 72 sl xde &1 wSlienL FHeN&s.
0

18. Expand.cin- 9 in a series of cosines of multiples of .

sin®.2 e Aflemeu cosines wdlliyseafled sresors.

skkok
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AFN-1572 BMA2C1

B.Sc. DEGREE EXAMINATION APRIL 2011

Second Semester
Ancillary—Mathematics
ANCILLARY MATHEMATICS-'i
(Non-CBCS—2004 onwards)
Time : 3 Hours Mesiainum : 75 Marks

Part A (5bx3=15)

Answer all quesiions.

1 -3
1. Find the angle between. the line x; Y= and

the plane 3x + y + z=7.

+1 -3
xz :%:Z—, - sienm Cam_Qé@h 3x + y + z = 7 elemp
O

FnsHnEGL GenL Ll L Canenisengs sreuwrs.
2. Find the equation of the sphere with centre (1, -1, 2)

and radius 3.

(L-12) etesim e®wWSDSWID, TD 3-PUd 2 6oL

Canengdest FOESTLM_6HL_8 SHT6wD1s.



3.

4.

5.

Prove that grad (¢ v) = ¢ grad y + v grad ¢.

grad (¢ y)=¢ grad y + y grad ¢ ereor HlemL.

Evaluate If-dfwhere fz(x2 +y2)7 L% +y2)J_‘
and C is the curve y = x2 joining (0, 0) @nd (1,1).
f:(x2 +yz)7+(x2 +y2)J_‘ womi Caierug) y =x2 a6
aueeteuenr (0,0) wpseo (L1 eweny eresfled If-d?

-6165TLIENS SN[\

Find the rank of the matrix (3 -1 2
0 1 3

6 -1 1

3 -1 2)'—er6t1m y6wlll6tT HrHeNSS SnewsTss.

0 13
6 -i 1J

AFN-1572




Part B (5 x6=230)

Answer any five questions.

Show that the lines =——=+=— and

x-5 y-8 z-17
2 3 2

are coplanar and find the equation

of the plane containing them.

x-2 y-4 z-5 x—5 " v-8 z-17
1 2 2 7 2 3 2

6T 60T
Carast @@ sns CarLhsen ceas SMily, ene

| MOU|LD GENGS 66T FLO6UTIIL_6HL_& SHT6TI&.

Find the equation of the sphere through
the circle 243> +2z*-4=0 and x*+y*+z* +4x

-2y +4z-10=0 and through the point (2, 1, 1).

X+ 2z —4=0 LD M M| LD x*+ 3y’ +z7 +4x
—2y+4z-10=0 etet1m eul_L Hlewr euflumseyw (2,1, 1)
eteorm Lemeflullenr euflwnseyd GCleeoen Camerng dleo

FLOETLIML_6DL_& &M600T.
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10.

Show that the plane 2x-2y+z+12=0touches the
sphere x* + y? + 2> —2x —4y+2z-3=0. Also find the

point of contact.

2x =2y +z+12=0-61651D) H6MID,

X+ +z27 -2x —4y+2z-3=0 erenim Gamngemnss
QarT&mng steut KlemL9. Goeyid ClFT(HIW Lismerflemwis
SHTETITS.

Prove that curl (fxg)=(g-V)f—(f-V)g+[div

g-gzdiv /.

etevt ElemLa.
If f=xz>7-2x* yzj +2y z*k, find VX(VXf)-

f=37"T —2x% yzj + 2y 'k erevflev Vx(fo) -~ wé

ST6T0TS.
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11.

If A=2xyi+yz’j +xzk and S is the surface of the
rectangular parallelopiped bounded by the planes

x=0,x=2,y=0,y=1,z=0,z=3, evaluate ”K-ﬁds,

A=2xyi +yz°j+xzk eermdb S etevimgy x = 0,
x=2, y=0,y=1,z=0,z=3, eeam germsafe
SIOLSSULLL SGevT GlFeuaussSlas 1 nHULrLiL eTemmLd

eeuSsI5 Clanest(® j j A -7 dS. -1 ndilienUs setus.

12. Findtheinverse of thematrix (2 2 1) using Cayley-

I 3 1
1 2 2

Hamilton Thecrer.

Qawel Tunmlleorer Cosmmsemsl uvweTuBSI

2.1\ -e1601D Sewflullent eTlTiommy oewflemuis snevsrs.

—_— = N

1
2

l\) 'I
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13.

14.

Show that the equations x+ y+z=6, x+2y+3z=14,

x+4y+7z=30 are consistent and solve them.

X+y+z=6,x+2y+3z=14, x+4y+7z=30 6T63T M

gwenLn(haeflen G gT@&S) ClLMBSH(LPENL WG 61078 ST,

Smss S

Part C (2x15=30)

Answer any two qriestions.

Find the shortest distance and the equation of the line
of shortest distaiice between the lines

x-3 y-8 z-3 x+3 y+7 z-6

3 1 pand 3 2 4
x-3 _yzd& z-3 x+3 y+7 z-6 .
3 ~ 1 3 2 4 sTEID

Car@eups@ Qe lulL 558 Ggreneveneiu|wb,
B&sin) Cgreneveajen_w GCamiigem Fwesm LML enLu|wbd

ST6T0TS.
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15.

16.

Prove that the circles x* + > + 2> = 2x +3y +4z-5=0;
5p+6z+1=0 and x’+y°+z"-3x-4y+5:-6=0;
x+2y—-7z=0 lie on the same sphere and find its

equation.

X+ +z7 - 2x+3y+4z-5=0, 5y46z+1=0 ;
Ay 22 -3x-4y+52-6=0; x+2y=Tz=0ere01D,
B aulLmasem Cr Camemgdle) wwenwdleiment erevrs

&M11g 9&5CamengHle0 Fw6TLIN(D) & TouoTs.

If FZ(y2 —z+3yz —2x> T (3xz +2xy) j +

(3xy +2xz +2z)k, shiw that F is both irotational and
solenoidal.

FZ(y2 — " +902 ~2x)7+ (3xz +2xy) j +

(3xy +2xz + 22}k, etefleéd F apeomma), umileupmg) etest
BepLi.
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17.

18.

Verify Stoke’s theorem for the function
F=yi +2yz +2k taken over the upper half of the
sphere x*> + y”>+z>=1,z>0 and the bounding curve

x>+’ =1,z=0.

¥+’ =1,z=0 eeruens elefllbures. O amevor
X4y 4+z22=1, 220 eTemib ewrs Carenges 1Ss
l_:=y7+2y27+2/; 168D &ML, e G L& F 6ot

Canmsamss sfluniss

Find the characteristic 1aots and the characteristic

8 -6 2
vectors of the matrix A=|-6 7 -4
2 4 3
8 =6 "2
A=|-6._7 4| eerp ewflillesr HAplGweoys
24 3

Sregasmeryyd ApLiflweoy CleusL_FHenemuLd SrevuTs.

skkok
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AFN-1573 BMAS3C1

B.Sc. DEGREE EXAMINATION, APRIL 2011
Third Semester

Ancillary : Mathematics
ANCILLARY—MATHEMATICS-- 11
(Non-CBCS—2004 onwards)

Time : 3 Hours Mesiainum : 75 Marks

Part A (5bx3=15)

Answer all questions.

1. Solve:(D2-3D—-4)y =e%.

&7 : (D2 - 3D —4) 5=,

2. Eliminate ‘ta: arbitrary functions f and g from
z=f (x +wy ) + g (x — ay) from a partial differential

equatiou.

z=f (x+ ay)+ g (x — ay) etetin FweILINL Iq6V\6TT6T [, &
gniysenet H&Sl LGS umasLlsLp FoeTUT BHL &

ST60TS.



Find L [te~* cos t].

L [te~t cos t] &nevorss.

Find the sine series of f (x) =x in (o, [).

f (x) =x &@ (0,1)-60 engest QFIL Hr6wis.

:
Find the fixed points of w=——:

2
- Py

w =

1 ) )
% -6t HlemevLit]eni *fl&:emens snevers.
z—2i

Part B (5x6=30)

Ariser any five questions.

Solve : (D4 —7D + 6) y = sin x.

&7: (D2-17D +6)y = sin x.

AFN-1573




10.

Solve: (D?2—2D +4)y =e*sin x

8r:(D?-2D +4)y =€ sin x

Solve (x2 —y2 — 22) p + 2xyq = 2x2

8r: (2 —y%—22) p + 2xyq = 2xz.

Solve:pg +p +q=0.

Sr:pg+p+q=0.

. 0 S 3
Find L {(52 +6s+13)2]

_lr s+3 ) )

AFN-1573




11.

12.

13.

Find the Fourier series of f (x) =x—x2 in (0, 27)
(0,27) 60 f (x)=x—x2 elm@ Lwbw i eNlflemeus snevsrs.

Find the image of |z—2i | =2 under the t-a1 sformation

1
w=—,
z

1
w=- 61601 WIHHSSH 6 eeod |2 — 21 | =2 efesr NbLID

ST6T0TS.

Find v such thav.f (z) = u + iv is analytic given

2
X" =y

2
u=e CcoS 2x)

f (@ =w+iv ugly smy, y=¢ cos2xy etevtley

U 28 SM600TS.
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Part C (2 x 15 =30)

Answer any two questions.

2
14. Solve: x2%+4x%+2y=xlogx.
X

2
8 : x2%+4x%+2y=xlogx,
x

15. (a) Form a partial differential equation by

eliminating arbiirary function ¢ from

¢ (x+y+z,x*+y*z)=0

¢ (x+y+z. X241y —2")=0 &fled ¢ er60TD FMFL W6
B&@se) cpeowns LGS cuemnas Clsp Fwerur(®

ST60T™%

(b) ~.Solve : pxy + pg +qy —yz =0.

8r:pxy +pg+qy—-yz=0.
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16.

17.

18.

Using Laplace Transform solve :

y"=-3y'+2y =4 given that y(0)=2,»'(0)=3.

616060 2 (HLTHMGEDS LweTLHSS Si

y'=3y'+2y=4y0)=2,y'0)=3

Find the Fourier series for ine function f(x)=¢" in

(—m,m).

(-7, w) 60 f(x)=2" eteuip enjllesr Lupflwi elfleneus

ST6T0TS.

(a) Shew chat f(z) = sin z is an analytic function.

f(2)=sinz @@ uaLly gy et Hnieys.
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(b) Find the analytic function f (z) = u + iv given

that U+V = sin 2x
cosh2y—cos2x’
Uty = sin 2x

cosh2y —cos2x sreflev [ (2) =2+ iv etemim

L@LLY &ML ST6Ts.

Kk = ——
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AFN- 1574 BMA4C1

B.Sc. DEGREE EXAMINATION, APRIL 2011

Fourth Semester
Ancillary—Mathematics
Ancillary MATHEMATICS—IV

(Non—CBCS—2004 onwaras)
Time : 3 Hours Mé¢yinum : 75 Marks

Part A (5bx3=15)

Answer all questions.

1. Write the formula 6z larl Pearson’s coefficient of

skewness.

arjev Slwrevsten Fhlesenw CamlL s Cspssnen

&SS TS 61,10815.

2. Writeithe formula for rank correlation.

&7 @LHDeys Olapeilen GSSTSmS 61(LHaIs.



Write the formula for Newton’s forward and backward

interpolation.

Bul Lefler perGerrsg@ womibw GNerGerns s
BevL_&0lan60 &5I TS50 61(1pS1S.

If H and K are subgroups of a grouo (x then prove
H N K is also a subgroup of G.

G aeoip Gevgdlenr 2 I @GeomeasT o wpmw K eresflev
HNK ooz G e 21 @605 ste0m Elmies.

Define L.P.P. and write the standard form of L.P.P.

Q@ Uy SIL_L & &svsens auenmwiml. Coebd ogen Sl

QUG EDEUU|LD ET(LDF %.
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Part B (5 x6=230)

Answer any five questions.

Fit a straight line to the following data :

x 0 1 2 3 4
y o 2.1 3.5 5.4 1.5 8.2

CunaetL wHlLiLseEns@E Cri Cam o ClunhSgs.

From the regression lies‘» = 19.13 — 0.87 y and
y =11.64 — .50 x find theval=e of

(a) Mean ofx’s.

(b) Mean e1y’s

(¢) Corraiation coefficient between x and y.

x=19.13-0.87 y wpmiby = 11.64 — 0.50 x ere510 R
Rz T8 Car(aefled) mnba

(a) x-eor gynEfl

(b) y-ew srnsfl
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() x womib ¥y 5& QewL_Cuuwnen L (Hneys Cawp

ST6T0TS.

Find the rank Correlation between height and weight

Height (incms) 165 167 166 1707163 172

Weight (in kg) 61 60 63.5°93 615 64

CunaerL SIS EHSE 2 WL, WHNILD 6T6HL_5&EhHSHE)

Qe Cuuwnest 7 L_(ODeYF OB (1pD6aIsS SHT6uTs.

Given log,, 654 = 2.2156, log,, 658 = 2.8182,
log,, 659 = 2.8189 l¢e.,661 = 2.8202. Find log, , 656,

using Lagrange’s forraula

log,, 654 =2.5156, log,, 658 = 2.8182, log,, 659 =
2.8189 \log,, 661 = 2.8202 sefled Qeoérmend

G&SSramsl wetu®h s log;, 656 e LU srevus.
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10.

11.

12.

13.

If U, = 246, Uy, = 202, Uy, = 118 and Uy, = 40 find
Uso-

U,; = 246, Ugy= 202, Ug = 118 wpmub Uy, = 40

eeofled U, g 6o1 oSl srevors.

State and Prove Lagrange’s theorem.

Revarmepflulest Cammsens stpd Flr)sys.

Prove that every subgroup ot'a cyclic group is cyclic.

Ul L &Hevsdlenn eerbleu T2 L (&6V(LPLD 62(Th GUL L (&H6VLD
eTeut Elmi6 5.
Solve by Simplex Method
Maximise Z = 3x, + 4x, subject to the constraints
250 x, < 40

2x, + 5x, <180,

A, ox, 20
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Fliblengen (wenmulley Si

BLuflwusns e, 7 = 3x, + 4x,

sL_(uurser 2x, +x, < 40
2x, +5x, <180,

x, x, =20

Part C (2x15=30)

Answer any two qriestions.

For the following data.calculate the Karl Pearsons

coefficient of skewness
WagesinRs. 1€~ 1" 12 13 14 15

Frequency 2 4 10 8 5 1

Cupasem._ IS EHSHE sryeo Mwrevesfles Filesrenio

Cami 50lsp &Tewwrs.
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15. Find the correlation coefficient for the following data :
x: 25 28 30 32 35 36 38 39 42 45

y : 20 26 29 30 25 18 26 35 35 46
Cunaesst HLUILSEHSE) LD s 6l&(L06v 61s STeDTs.

16. From the following data of the whele sale price of rice
for the 5 years construct the iridex numbers taking

(1) 1987 as the base

(11) 1990 as the base.

Years ;19371988 1989 1990 1991 1992
Price of
rice per kg 725,00 6.00 650 7.00 7.50 8.00

1) 4387 » Sl WTSHea|D

i) 1990 @ grlueLwrseyd Osresr( 5
ABTHO&HEHSHE Cwrss alenensds GHUTL ([ sTewoTsHemen

Cunaesr SLILSEHSE) SHTews.
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State and prove fundamental theorem of

homomorphism.

Queo wrprerillen liuen,. Capmsms el
Bmieys.

Use simplex method to solve the following L.P.P.

Maximize Z = 10x;+ xy+ 2x4 smhiect to the

constraints x; + x, +2x; < 10
4x, + x, + x;°< 20

X, X, %20

AnlQersev W@ mw 2 uCurdlgg Yleseumbd @

LGS L HETED 5 ST5HS

BLOuflusnsE, Z = 10x;+ xy+ 2x4

. . . <
65|_G:|I_|LJIT®6'>61T X +x2 +2X3 <10
4x, +x, +x; < 20

X, X, x20
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AFN-1575 BCH1C1

B.Sc. DEGREE EXAMINATION, APRIL 2011

First Semester
Chemistry (Ancillary)

INORGANIC, ORGANIC AND PHYS'CAL
CHEMISTRY

(Non-CBCS—2004 onwaxdls)

Time : 3 Hours MMazmum : 50 Marks

Part A (4x2=28)

Answer any eight cuestions.

1. What are Oxides ? Give any two examples.

pSemen (&6 ey elestenr ? gCHemd B reve(H

T(DSHSHHT_TPea 5(H.

2.  What are =iectrophiles and nucleophiles ? Classify the

folloyming accordingly.

+
(a) CH,CH,CH,

(b) CH, CHCH,



(©) NO,

(d) NH,,

61608 L_[TesT SHeu flaeT DHMILD &(H&se a6 6T6nnMed eTesTenT ?

SeunmlesiLilg SPSSHETTL MM UG {RiS.

+
(a) CH,CH,CH,

(b) CH, CHCH,

(©) NO,

(d) NH,,

What is meant by Boyle temperature ?
umer Crauiuflenev etesTmmey eT6uTEST ?
State de Broglie’s concept.

g Wgr&eSullest s5816u5em5 GDILLN[H\S.
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(a)

(b)

(a)

Part B 4 x4=16)

Answer all questions.

What is meant by hardness of water ? Give the
types of hardness. Explain them with suitable
example.

Bl SuesTHesTend  eTeIMND).  eTeviesr  ?
Bl TS HATMLUNEST UMESRENS Tl FGHHS
(b SgSaM_(H L6 elleuflss.

(Or)

How is hydrogen ‘peroxide estimated by
permanganimetry.?

QuiywriisGesi_ (e mull 6o 69 D L[y 29 631
QuirTSen () eTeueumm LN LuBEng ?

Deccribe the Carius method of estimation of
Hatogen.

anreomener WHUNL 2 gajb Cafluellen wpenm
umnl eSlens@Hs.

(Or)
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(b)

(a)

(b)

Explain the essential difference between a free
radical reaction and an ionic reaction.

gefl 2 niliy elenens@n yuwefl elenews @b
e _Cuujster w&aHlwwrer GCeupmiemwenw

eNlens @ s.

State and explain any four basic postulates of the
kinetic theory of gases.

auny&aseflen Qusss 6o Tiensuwlle gLliLienL&
Qarlur@aseale 65cayb Breardlemeans &
eNlens @ s.

Cr)

Derive tize expression on van der Waals’ equation
for gas' Zescribing the P — V — T relationship in
real gases.

QueoyBlened eumysaefler P — V — T Qgr_jenu
odleufl& @G eunwellenr WaHmewr eumTeTL T 6uM60

geLIm_enL eu(hHe.
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8.

(a)

(b)

(a)

What are bonding and antibonding orbitals ? Draw
the M.O. diagram for ', molecule.

emewstii wHMID 618 NewewriiL gyl L_meoger
etesrmned etement ? F, epevsammlesr M.O. UL Sens

6L6MIS.

(Or)

State and explain Heinsenlker;z's uncertainty
principle.

emanuiges UfHler BlFsuienn 555 6UG05 Fal
eNlens @ s.

Pav C (4 x 6v%% = 26)

Answeor all questions.

Discuss-the position of hydrogen in the periodic
table, Describe its important properties and uses.

soflbeufle L L auememtulled enamL 2 evfl e
QLsemasl umnl Neauflés. ser WPa Hw
LI6UTL| & 66D, LILI6ITSEMeNLD 6X6T18&.

(Or)
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10.

(b)

(a)

(b)

Discuss any one method of preparation and any
two important properties of Ozone. Explain its
structure.

eCares swrflssedlev sCHaID (H (PewMEDUIU|LD,
g1 LewTL&efled Qressrenud eleuilses. iGewt

SjemiLienLt 6Xl6ns@s.

What is hybridization ? /What are the
distinguishing features of s> and sp? hybridised
orbitals ?

Bensse0liy ererpre ersties 2 spd  wpmbd  Sp2
Qensaeoliy i _revseflenr ApliSlweoser

wmremey ?

(Or)

Explain the following reactions with suitable
exan.v.es :

‘1, Substitution reaction.

(11) Elimination reaction.
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SpsaerL lenasemem 558 dHOSHSSTL(H

&emHL_6v1 eXleufl.
(1) udHeS (b eSlemeut.

(ii) B&s elemeut.

11. (a) Whatis meant by Joule-Thomsen effect ? How do
you account for it ? Derive the expression

(5H /8, )
C

AT = ~-Ap for anadeal gas.

P

W -FMDF6EST 6N 6n6Ti6 6TEIIMTEY 616U ? WS
sTeuaumm| ey XNd T ? (b BeveSlweoL] eumieln s

(84/3))
= Ap ererLEns eumHe.

-

4

(Or)

(b) «4&) Discuss a method for the liquifaction of gases.

(i1)) What are RMS and Most probable velocities ?
How are they related ?
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12.

(a)

(b)

(1) eunyssHenen BILWLISHGW (POD 6 651N 60 6v1

eXlenss@s.

(i) RMS SleneCGeousnd wHpmiw Wems soe
SlengCGeusid 6T6mMTED 6T63TEN ? SjEr. 6TEUEUTM)

Qgriy Glanesw(hememest ?

State and explain the Rutherr:»d model of the
atom. What are the defects‘et this model ?

ehS o oGLITTIq 68 615 () 51 6TenBEDIIS Foll)] | S6WEDT

Nleuflas. F60T H®LST Wieneu ?

(Cr)

What are the postulates of VB theory ? Discuss
briefly the formation of hydrogen molecule with
the liein of VB theory.

B Qaeatemasullen s @maCanerser wnemeu ?
MO TMET  pPVSIMM 2 (heumeuens VDB

Qe reengullen ppevld el fleuna ellens @s.

sk
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AFN-1576 BCH2C1

B.Sc. DEGREE EXAMINATION, APRIL 2011

Second Semester
Chemistry (Ancillary)
INORGANIC AND ORGANIC CHEMISTRY

(Non-CBCS—2004 onwards)
Time : 3 Hours Mesinum : 50 Marks

Section A (4 x2=28)

Answer all quesiions.

1. Define: Mass Defect.

euenTwm) : Hleom Geowur(®.

2. Explain any.oii2 method of purification of metals.

2 Ceonarsmen grienwwrs@Gn (peonsefler gCsaib

evTen <6115 &5

3. Write any one chemical test to distinguish between
Sucrose and Glucose.

&&Crre oMb GeEHstans: yfweupenn Caunu®ss,
aCaemib @ Coudls Cargenemenwt 61(pa)s.



State any one use, each for (i) Phenanthrene and
(i1) Anthracene.

(i) collemmpsFeor wHmib (i) YhsTSer gy dlw
eablaurein@wb gCaemIb @ Liwemes GBHILLHS.

Section B (‘L x4 =16)

Answer all questions.

(a) Draw the figure for a Nuclearreactor. Explain its
functioning.

QR(H SIESHSH(H 266X BIET LIL LD eUENTIIE|LD. I

uewflLlNfluyd (pevmev. i elengsa]Lb.

Or)

(b) DefineArerage Life. Disintegration constant and
Half Life period of a radioactive element. How are
thev related to one another ?

cuedTWM| : FTNEfl aumpey sreown Henge| wred,
LODID HHF  eulpe &reobd. Beneu

eubleunenn @b QenL_CGw 2 etem QgrLiL wrg ?
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6.

(a)

(b)

(a)

How is Platinum extracted from its ores ? State
any two of its uses.

Mesrmiiqend, Fest g L6l LimhLserfled (hb &
csrmeain WAsC0s@ssiu@Ens ? s e

Lwestsemen CHemID QrevtTiqenesis &' ULl (.

(Or)

Define : (i) Flux (ii) Roastirig (iii) Ore-Dressing.
Explain with suitable exaiiples.

F5&bS 6T(DSEIHHTL_ (s L6t L6tT 6u(HeuerTaumenn
auengwm (1) Qensd (ii) eumIssHe0

(iii) srgLGluTmaa: swry ClFwige.

How will ‘7011 convert (i) Fructose to Glucose and
(i1) Glucose to Fructose.

Y6vt QU(HLD IHDEISEDT sTeueunm| HlsLpS eumi ?

) 06L& GLnemen (&eheCamevng mm)Ld

(ii) G EHSECHTEmEN o LN T8CLervms.

(Or)
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(b)

(a)

(b)

How does Glucose react with (i) Bromine water
(i1) Hydriodic Acid (iii) Hydroxylamine and
(iv) Yeast ?

(1) yGrrbleor By (ii) ewan FGwmgsds Bleod
(iii) emamL_grsdler ofeor wOHmL (i) mev_ (B
SpFweaipmiL e GHehsCana erevonTin 66w e
Yfdng ?

How is Benzyl Chloride prej:ared ? What happens

when it is treated with (i) Concentrated sulphuric
acid and (iii) Aqueous Petassium Hydroxide ?

Guettdlev &Cemmenn (b sTeueumm wrflssLILGE DG ?

218l (1) 9|Lieks% g e womw (i) Bl serbs

QurLrfww seanl_rrsenen® olueummiL et

eNemestyfism1 e16v1601 6 6m6VT GILINHED6NS HMHS DG ?
(Or)

State and explain any four difference between Sy 1
and S\ 2 substitution reactions.

Sy 1 womibd Sy2 uSleS (b ellewens EhsE Sen_Gw
2 ememn Geupmievwaefler gCaabd BHresdlen e

eNlens @ s.
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Section C (4 x 6V = 26)

Answer all questions.

(a) Compare the salient features of the following
radioactive series : (i) Actinium (ii) Thorium and
(iii) Uranium.

Yerr eupd &Hflwss euflengsenst @USH GlFws :

(1) yseesflwd (i) Carflusn wHmib (iii) uyGresflwibd

(Or)

(b) Write notes on :

(1) Hydrogen 2oib and

(i) Soddy-Fajans’ Group Displacement Law.

(GSDILIL] 6U6DTS

(1) emamlrxmer Geu@® wHmw (i) Gevmg-
oLlLggnenta: Glgm@d) Hlewev MM 6Nl&).
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10.

(a)

(b)

How are the following prepared : (i) Sodium Nitro-
prusside (ii) Potassium Ferricyanide and
(iii) Epsom salt ? State one use for each of them.

Yem eu@pd Ceromsst sThmeTd Hurflasl

uElemrmert ?

(1) Geromgquwid ewmL_Gom Liehemem (k. (11) QuimLrfwibd
oUTfl enwene(®m wOHMLL-L1i1) TV 2 LiL.

eubleunesn @ TCHEmILL. 62(H LILIENEDT 6T(LPG)5.
(O

What are the imuportant ores of TUNGS TEN ?

How is it extracted from its ore ? How does it react
with (i) Iodine (i1) Nitrogen and (iii) Carbon ?

LBIsavL_osflest (PSSl STg1ss6T wneneu ? & Sigeot

-
S

S Bhg emmesid Nfs6shsslLGEng ?
Jel QU@heueTeuMMIL 68T G eTeueunm 6l e ew

SPIELETE

(1) oGwmger (ii) emmL_regest wpmbd (iii) smyLesr.
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11.

12.

(a)

How are the following dyes prepared ?

(1) Indigo (ii) Methyl Orange (iii) Malachite Green

(b)

(a)

and (iv) Bismarck Brown.

L9687 6u (LD SFMUIEIG6T eTeueumr) SWIMflasLi(h&lesimert ?
(i) @evoriq Carn (ii) ClgSlev oy TEhe: (7il) tolbevsens_(H

u&eng wHMIL (1v) Wevwrye L Iy.

(Or)

How is Sucrose marufactured ? How does it react
with (1) Concentratel Hydrochloric Acid and (ii)
Calcium Hydro:zias ?

&aGmeny G i wemedlev eTeueumm) SwinflesuuOEng ?
28 (- Lieman Grrm@Gemmfla ojfleown wmmib
(i) GmvAwb emanl rrsemev@®, dlweumnmiL_ et

eniiuievd element Lflfleima ?

How is Chloroform prepared ? How will you
convert it (i) Chloretone (ii) Chloro picrin and

(iii) Phosgene ?
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&CemnGrmoouimyd eTeueunm swrflssliu@Sng ?
Siena, 6wt eu(hLd CETLORISETS cTereUMM)] LOMDHMIEUTII ?
(1) @Cemmfl_CLnesr (ii) &CemnCrm & et wHMID

(111) ooo (|| "méﬂﬁ

(Or)
(b) How will you prepare (a) Acetic Acid and (b)

(1) Isopropyl Alcohol from Grignard reagent ?

(ii)) What happens when Navhthalene reacts with
(a) Sodium and isopentar .ol and (b) Concentrated
sulphuric acid at 350 K.?

(1) Sflsesnr® ®rpenflluled Bha Kenr eu@mLen6
sTeueumM| ‘o miLI(H&lesTmert :

(31) AL 198 gbleowd wHmIDd () PGevm
uGrmitley gevsanme.

1) BrigeSes S6sT 6u(heuesTeu ML 63T 67! Bl 6UTLD
elemest Yflflestmg : (1) Ceromquid wpmyd gCeum
GuemtLewmev (gy,) 350 K Qeulinflensouiied i
BHHS LOl6VLD.

sk
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AFN-1577 BCH3C1

B.Sc. DEGREE EXAMINATION, APRIL 2011
Third Semester

Chemistry
PHYSICAL AND INORGANIC CHEMICTRY

(Non-CBCS—2004 onwards)
Time : 3 Hours Mesinum : 50 Marks

Section A (4 x2=28)

Answer all the anestions.

1. Write the differences'bectween adsorption and
absorption.

ypuply  2onflen&sed  bOMIL  2emndlEh &S0
SpFweupnipdlen . Cwwnest CoumiLimsener 61(LpSIs.

2.  State Beer-! .sumbert’s law.

§7-evioLm eSlSlenw snmis.
3.  Write the IUPAC names of the following complexes :
G [PtV (NH,), C1,]%*.

(ii) [Co (NH,)4ICl,



Spsane|b Carwmsens@ IUPAC Quwisenst &@ms.
(1) [PtV (NH,), Cly)2*.
(i) [Co(NH;)4ICl,

What is meant by Green house effect ?

LIFeDE & lq.60 6Xlen6rTe 6T6SIMT6D 6T6BTE
Section B (4x4=16)

Answer all the queztions.

(a) Whatis meant by adsorgtivn isotherm ? Write the
factors influencing acizoi ption isotherm.

wrproealinflency s&r@ Yplupliy Seujss
ecierpred etester 2 wpm Geuliuflemer Can(
youurly seifeflenw urdlé@Gw &nyeuwflsener
61(LDGI5.

(Or)

(b) Distinguish between Order and Molecularity.

emertLilg WOHMID EPEVSFM| 6T60T I SluleuHenn
Camu® 5z15.
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(a)

(b)

(a)

Describe the preparations and uses of Polystyrene
and Teflon.

LeoLIlg. evenL_Flet HMID OlL_6ueonest oy dlwieum e
Swrfliiy (penpma&sT HMID LiwessHenst efleufl.
(Or)

Distinguish between Thermal and Photochemical
reactions.

Qeutin  wpmid el _ Raad  alenessenen
Camu® 5a15.

For the given complexcs :

(i) [Fe(H,0,)S0,

(ii) K4[Fe(CN),]

Write the following :

(1) Central metal ion

(11) Cacrdination number

(i11)L'gand

(iv) Primary valency.
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Qarssliul L CarkisEns @
(i) [Fe(H,041S0,
(ii) K4[Fe(CN)]
SPE&ESTETTLICIDEND 6T(LDSIS.
(1) emww 2 Beors ywenfl.
(i) SemewoTey eT6vDr
(iii) rrevfl
(iv) wpsesren B emessrdm (ot
(Cy)
(b) State EAN rule aid show that Fe(CO), follows
the rule.
EAN igiow samis Fe(CO); 9ng efidewls

Nerunmidlenna) eTestLens SnevorLil.

(a) FEx»niain how industrial waste water can be
vreated.

Qsrfimerensd sifley Bi eteueurm &5dlaflesi
L@ g erevTLIEN SN 6118 (&5

(Or)
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10.

(b)

(a)

(b)

(a)

Describe the effects of ozone depletion on human
beings.

@Camenn UL L enLwre weflg GHos5HNEG
apuBIb Sti@Gsener alleufl.

Section C (4 x5% = 26)

Answer all the questions.

Discuss the principle and aprlications of Thin
layer chromatography.

ClweveSlw H\&@E euetsTewiiLlflensullen H55 6uLd
LOHMILD LIWI6sTSHensT ele ie)
(Or)
Derive the integratied rate equation for a first
order reaction anC write the significance of the
integrated rato.nquation.
Wwseoulg. enemenssTes GCeus Fwerumen
bl Sibhs FLETUTLIq60 (PSS WGH UGN

EI(LpEsS
Deaofne Catalysis. Describe the two types of
“atalysis.

Newenwpsdl euemTwm. 66w ety & el wed 6ot
B revst(h euensG:eme elleull.

(Or)
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11.

(b)

(a)

What are polymers ? How are they classified ?
Write the general properties of polymers.

LeoLIlg CFTLOEISEN 6T6TMTEL 6T65TEN ? {6M6U 6T6LEU M)
auemaLliL(NSSLILRSesmen ? LieoLilg Carwmigerfles
QlLING) LIGTOTL| SB6m6T 6T(LDS)IS.

How are the following compeunds are
manufactured ?

(1) Nitric acid.

(11) Ammonium nitrate.

(111) Silicon carbide.

(b)

Spasnem)| b GCafmism deueunn swnflasuuOEng ?
(1) eomLfl8 v
(ii) wCretiwr emmpl Gy

(i1i) fledleatt &rFenu(D.
(Or)

Give an account on Werner’s theory of
ccordination compounds.

Qeugeriflesr 9 e 6vvTEoy& C& iy Lb i & (61 & & 6wt

Qaretemasenw LD @ CBMEGLIL S(HS.
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12.

(a)

(b)

Whatis acid rain ? Discuss the theory of acid rain.
How acid rain can be controlled ?
Sil6v EDL 6TEITMTEL 6T6uTesT ? HLO6V LOEHLPES S TEsT
Caratenaemen eleufl. odlev WewPeMW 6TeueUMTM)
s_OuUBSS Py ?

(Or)

Describe the methods of preventing radioactive
pollution.

aSflwss wreaur_eoL §O\&!S (PennaensT eleuil.

Kk — —
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AFN-1578 BCH4C1

B.Sc. DEGREE EXAMINATION, APRIL 2011

Fourth Semester
Ancillary—Chemistry (General)
ORGANIC AND PHYSICAL CHEMISTRY

(Non-CBCS—2004 onwards)
Time : 3 Hours Mesinum : 50 Marks

Section A (4 x2=28)

Answer all quesiions.

1. How will you prepare Pyvirole from Succinimide ?

& & 6l vfl 69 10 19 66) (B h ) W Grmev 6763 61 )]

swnilasliu@dng: ?
2. Name the antibiotics which can cure the following
diseases .

(a). “Yuberculosis.

(b) Typhoid.



61bg 2 WlTEClaneved Spsent Crrenw s @ emLILHSSHID.

(@) oneCrmi.

(b)  evLumu@.

3. Define System and Surroundings

euenTWN)] : SiemLiL| HMID Lmeleuer.

4. What are strong and weak electrolytes ?

erefldlev eI GOILIM@BET LI DIWD GHewnwene| WlestLiE

Qw6 6T6ITMTEV 6T6BT6NT-?
Jecuvion B (4x4=16)
Angwer all questions.

5. (a) Howdoes Pyridine react with

G Hot Conc H,SO, ;
(i) Na|C,H,OH;
(iii) Byo;

(iv) Sodamide.

2 AFN-1578




L9 f 1o 657 & 1D & 6v3T L 61 ) M) L 607 6761 61 )]

elemsTflElmg ?

1) GSOUOSSHW LT5H55E L6V,
(i) Na|C,H,OH
(iii)) By,.
(iv) Sodamide.

(Or)

(b) Describe the preparation and structure of

Pyrazole.

WrGenedle 8 wmfliiy wHMID augeuemwLienL edleufl.

6. (a) Write short notes on :

«2) Chloroquine and

(i1) Salvarasan-606.
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(b)

7. (a)

dml @NILIY euenrs.

1) @CemmGrm@ulen wHMID

(i1) &meveurses-606.

(Or)

What happens when lactic acid is heated ? How
many optical isomers _are known ? Give their

structures.

V51985 Blevd HOUDSH WD CUTIPG eTevtew
Bapdng 7 sisamen eaflapnmnib SesenousTen
oCamoiaeT = ememen ? Hemeuserlen allgeienLEmLIS

(e

State First law of thermodynamics and derive

nathematical formulation of First law.

Qeuli Qussealwedes (el lenwd gan, 6o
SewTdH S w6y eumiLm_enL_ Flmiey.

(Or)
4 AFN-1578




(b)

8. (a)

(b)

Discuss the applications of bond energy.

BemewtliLg mesflerr Lwenrgemen efleund).

What is common ion effect ? Discuss it¢ application

in qualitative analysis.

‘Qurng Sweflellenste)’ eremmTe0 eTevtenr ? 3

uesoTLn) LGLilev eteueummi Liusstu®Sng ?

(Or)

What is meant by-r‘usting of iron ? Describe the

preventive 1aetnods from rusting.

‘@ mDY g[BLILIGSHS60 eTerLIges OILIM(H6T eTetTeur ?
255055 CHoISTETEBLD (Weornaemer allallfl.
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Section C (4 x 6Y2 = 26)

Answer all questions.

9. (a) Describe the synthesis of the dc¢llowing

compounds.

(i) Furan.

(i1) Thiophene.

(ii1)) Pyrrole.

(iv) Quinoline.

Spaert CoTvin perflest Qgm@LiLsemer eleufl.
1) Supyis.

(i) @CwumSesr.

(ir1) 91Gymev.

(1v) &6lestmeSlsur.

(Or)

6 AFN-1578




(b) (1) State Isoprene rule.

o Carliflen elSlenwisanm.

(i1)) What are terpenoids ? How are they--lassified ?

QLT 9esmiL_ev 6TEIMTE 6T6UTEN ? SieM6U 6TEUEUTM)

auemaLIL(RSSLILOS DG ?

10. (a) Write noteson:

SO euenrs :
(1) Penicillin.

Que‘ﬂoqﬁ\‘ldﬁ.

(i) 'reuracyclines.

QLL_gremasefleor.

(Or)
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(b) What are hormones ? Name any three hormones

and their functions.

anryGuresgen stearnrey etemtest ? GCHeMID PL6STM)
anmrCuorensemens amp Fenr Qgurd Smemew

eXlemay(g).

11. (a) Explain the following :

(i) Enthalpy.
(i1) Heat capacity-at coastant volume.
(ii1)) Entropy.
(iv) Any twc applications of Hess’s law.
Spaevrri AUmenn eXlens).
(1) ~aissTL_LI2_e®mu]e.
a))  BlemevwnesLi(Hiwesfled GleuliLl Qs memeneney.
(iii) eresr_Grm9.
(iv) Gz Qe Glamev edldlullen Liwesg6.

(Or)
8 AFN-1578




(b)  Calculate the enthalpy of functions of benzene
from the data.

CgHg (1) + 720, (g) > 6CO, (g) + 3H;0(1)
AH = -32647 (K).
C(s) + 0y(g) > CO,(g)AH=-393.5(K).

+ 100,(g) > HyO (1) Vif = —286.2(K).

Questdlen 2 (Heum@p CiLmpg anpu@L Gleuli
2 empullemenr Glarticslul L eNurbd (oo

&H6wsTEHEH (D).

CoHy (1)2-7% 0, (g) = 6CO, (g) + 3H,0(1)
AH = -3267.7 (K).
C(.c\ + 0,(g) - CO,(g)AH=—3935(K).

B / /202 - H2O (I)AH = —2862(K)

9 AFN-1578




12. (a) Discuss Ostwald’s law and its applications.

SV auTev eNFlenuwiujd ST LiLI6STSHEM6ITIL|LD

eXlemay(g).

(Or)

(b)  Discuss principle and methods »f electroplating.

WlemT(peOMDd &S LILNIW &5 6UGenS WD,
(PODSBEM6TUYLD eXleumey.

= kRok
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AFN- 1579 BCH1C2

B.Sc. DEGREE EXAMINATION, APRIL 2011

First Semester
Ancillary—Chemistry (For Bio Chemistry)
GENERAL CHEMISTRY

(Non CBCS—2004 onwards)
Time : 3 Hours M¢yinum : 50 Marks

Part A (5x2=10)
Answer all queztions.

Each answer should not exce>d more than 2 sentences.

1. Whatis ‘oxidation “number ?

‘256l Gesrhm * sTewwT 6TEBIMME 6T6BTES ?

2. Define t':¢.term resonance and resonance energy.

eueum ‘2 L e Qenge * OHNID ‘2 L 6T ewse]

SHODEV.



Mention Acid-Base indicators.

Sjdlevd-amrd HpmsT 14 senens @GBIL@H.

State Raoult’s law

T eldlemw e1(ps.

Give the examples of the following typ<s of colloids :

(a) Gel.
(b) Sol.
(¢) Emulsion.

(d) Foam.
SLD 2_6TT6IT For LPLOIB: T(6THH(F) 2T W RIS ED6NES F(Hedl.
() BL198810:
() semra.
(8 ineowib.

(Fr) miemr.
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Part B (4 x5=20)

Answer any four out of six questions.

Each answer should not exceed more than one page.

6. Discuss the shape of ‘s’ and ‘ p’ orbitals.

‘s’ QTLmev wHMID ‘ p’ gy TellL_Tedes aulgauenLIenL
efeund).

7. Write noteson :
(a) van der Waals’ forees-and

(b) Dipole forces.

SO auemre:.

(1) eunssi i 6umev eNen&s6T LMHMILD

() S ewerull ellengs e
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10.

Describe the measurement of enthalpy of combustion.

@@ Ourmer eflgedlesined 2 ewrLm@Ww Gleulin

2 6TEHemTEmWS HeaHl(HIb (Wemmenw efleulfl.

Explain the terms :

(a) Semi-permeable membrane and

(b) Osmosis and Osmotic pressare.

LS BISeneT eXl6nd@s !

(1) @ Faml Y& (BHIb &6, HM)LD

() 2B LTeued WMy 2eT(h LITEUE JY(PSSLD.

Describe any two methods for the preparation of

colloidal solvtie.

aCGgein. Qreavlh wenpsealled Fapww serFeo
Fwnicieng edleurl.
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11. Explain the theory of working of phenolphthalein

indicator

9 w1 mev L1 & 6S6v1 Bpmer_iqguier Oswe @D

Clanetenaenw 6Nl6ms@s.

Part C (2 x 10 =20)
Answer any two out of three questions.

Each answer should not exced morefiian three pages.

12. (a) Balance the following-eguation by oxidation

number method.
Zn +HNO; — N,G+ “n (NO, ), + H,0

sl mCerim mevor eulfl (Wpewmullev Hip s evoTL

eNlemestenusF & wLILI(HSE.

Zn +4NO; - N,0 +Zn (NO,), + H,0

(b) ~.Write a note on Common ion effect.

GO euemrs : Clung jwerfl elemerey
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13.

(a)

(b)

Calculate enthalpy of reaction

C(s)+ 15 0,(9)>CO(® AH=?
The given data are

C(s)+0, (g) >CO, (g) AH=-3935K]
Co (g)+%o2 (g) > CO, (g) AH=-282.0K]

SpserL alleneruillen Glaliil 2 6T EHemTem W s

&6u5T5 & ()
C(s)+%02 (g) >0 AH=?

Qar(ssluL L Narrh&sT

C(s)+0,40)>CO, (g) AH=-392.5(]
CO () + %oz (g) > CO, (g) AH=-282.0k]

Leiine electro negativity. Discuss the factors that

affect it.

QUEMTIWIM) © 6TEVSL_[TT6TT SHeuTSHmert. iFen Sl FHeners

s_(HLUOSSID STremThisenen eleundl.
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14. (a) Discuss quantum number and their significances.

(SHEUTETTL_LD 6T6VTTSH6T, Jjeummlent (P&l WSg euGens
efeund).

(b) Describe any four applications of colloids:.

FnpgSle 7CHeID Hew (@) Liwendanar a6 @s.

ksksk _—

7 AFN-1579




AFN-1580 BCH2C2

B.Sc. (BIO-CHEMISTRY) DEGREE EXAMINATION
APRIL 2011

Second Semester
Ancillary Chemistry(For B.Sc. Bio-Chen.istry)

ORGANIC CHEMISTRY—T!

(Non-CBCS—2004 onwaxdls)

Time : 3 Hours MMazmum : 50 Marks

Section A (5 x2=10)

Answer all au<siions.

1. What is meant by Ri=valae ?

R~y sreormmso Tet.eor ?

2. Give the trivial and TUPAC name for the following

compound! .
CH.COOH.

Wesmeu@pd CeywsdneE Gunglicluwy wpmw IUPAC
Quwenr H[Hs :

CH,COOH.



What is asymmetric carbon ? Give an example.

FTepwWmHn SMTLIET 6T6IIMTED 6165160 ? 6(hH 2 FMJ6VuTLD

Qar(.

What are Carbohydrates ? Give an examyp'e:

s1Cureman Crl(D&6T 6T6mmed goimar ? 2 FHMyesrDd

S([HS.

Give any one test to ident1;7 amino acids.

D Cern ylevmsmer s gCaamb @®
Cengenest 5Hs.
Section B (4 x 5=20)
Angswer any four questions.
Expliama the distillation process for the purification of

Organic compounds.

sfleCerwrisanst GrienwlLHSS SMUES 615560

(pewm LweL (Heueng eqenssa]L.
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7. Write the IUPAC nomenclature of the following organic

compounds :

(a) CH,OH.

Br

(¢ CH,;-CH-CH,

Wemeu@mw Cejomasenrss~ IUPAC Quuisener

SOILSI_eb :

(a) CH,OH.

(¢) _Chy—CH - CH;.

3 AFN-1580




10.

11.

Write the preparation and properties of aniline.

Sevfledlevflert swinflgseo wHMID LiessTLSHemem GHBILILNL_ab.

Explain geometrical isomerism with suitasle-example
and give the differences between maleic and fumaric
acid.

allgel LINNWGNS, 2 FTreswTshH LT 6lens@He. Ged

welluwils wHmIL KBuywflés HBlnsdnE Qen_Gw 2 erem
Caumium_iqemes HmHs.

Elucidate the streciace of glucose.

&epaGandle algealenwliSenes Hnie|s.

Classity proteins based on Physical properties.

HIsmaemeT Sl w Qumniilwed LieswLsemerL

QuTHS G euemaLILI(DSHE!5.
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Section C (2x10=20)

Answer any two the questions.

12. (a) Explain the principle and procedure ofTLC.

TLC-6t1 g&gi6ud wpmibd ClFweoin’sn_ eflensseaLb.

(b) What is meant by keto—enairtautomerism.

SLGL1 rrevmev @ w5 ¢nhlemev sTesImMTED 6T6BT6NT ?

13. Explain the following.

HNetTeu(meuesTeumens 69l 6MS &6 Lb.

(a) Recemisation.

&1 0D M &S 606D6LILITEHS60.

(b) R/Snotation.

R/S siphéd.
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14. (a) Explain the properties of amino acids.

9B Gevt gyflevmuserflest LiesTTLSHEM6N Nl & D,

(b) Write any two preparation methods 1 glycine.

SlemenFeflesr gCxemnd @@ Furfiy Wewmenw

61(LPSaLD.

skkn
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AFN-1586 BBO3C1

B.Sc. DEGREE EXAMINATION, APRIL 2011
Third Semester

(Ancillary)Botany

TAXONOMY OF ANGIOSPERMS, EC21TOMIC
BOTANY, EMBRYOLOGY OF ANGJOSPERMS
AND PLANT TISSUE CULTUKRE

(Non-CBCS—2004 onwards)
Time : 3 Hours Meogximum : 50 Marks

Draw labelled diagrams where necessary

Section 41 (10 marks)

Answer all juestions.

Multiple choice (5x1=5)

1. Who first propesed the principles of Taxonomy.

(a) Swingle
(b) < .. Bessey
(c) Bentham

(d) Hwutchinson



(P 565 60 6 69 & L1 LI ML Lg. 607 O & 611 60 & & 69 611

Compmiel S eur
(=) svefiiudler.
(<) 8. 8. Queived.
(&) Quisb.

() amL Sengeu.

Poaceae is known as :

(a) Cereal family
(b) Grass family

(¢) Canna family

(d) Myrtle fainily.

CurCuwdl HObugSlener Qeueurmibd empLiLIy

(1) Hueflws @O IbuLb.
(=) Yoo GO L.
(8) Gaevtenm &G \DULD.

(/) 0760 & bUL.
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3. Ragiis otherwise called

(a) Pearl millet
(b) Finger millet

(¢) Italian millet

(d) Bread millet

rrdl @uuiquib eowsasiuRSng;.:
(1) Quifev WleveL_.

() VEisT eveo

(®) 9s5zm6dwen eI

(/) Sy

4. The double fertilization in angiosperms was
discovered by :
(a) weortson
(b)~Nawaschin
(¢) Porter

(d) Randolph

3 AFN-1586




2 ep&CwnenClurbssflen @rienLs &@mHeaynFeneos

& 65uTL_ M) i & 6 I

(1) TrUfL_&eur.

() meumendlen,

(®) Gunily.

(r:) pressTGL_mevo oL,

Callus culture is very usctui to obtain a drug from

commercially importarit

(a)

(b)

(c)

(d)

Primary metabalites
Secondary.metabolites
Singl= cell protein
Arnubiotics

Gaeverv euenyLifev euenfla FHlwnes W& (p&Hluwiomes

B @60 mHE uPLILBEDE)
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(1) a6 Blemev euenidfleng wrHML ClLIMHLS6.
(=) @revornd Hlewev eusnidleng wrmHm LGl LITHL &6l
(&) sefl Geed yrsid.
() 29§ adlf QuImL_sar.
Fill in the blanks : (5x1=5)

6. Bentham and Hooker publishea‘Zrenera Plantarum’

which has ——— volumes.

Quiswbd wHMWL efssy el Gaeaflyr
Slerrewr_Ling e1ed:m BTV ———— O &S

Clanevst(D6rerg.

7. Ruscus and Asparagus show modification of stem is

called —=-=—

TeN&6:0 LOMMILD f6NVLITTSENV6ST IDHMI(HOYMMD &6u0T(h &6

———— 6160 Y MP&HSLILI[DEl6tTm 60T
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10.

Turpentine is obtained from ———

L7ClLesten L6t ———— 68 (Bhg HlenL_sHng.

The embryos obtained their food from — —-

& (HSHSHEN HHIGET 2_eTemned ————— 6 BB 61555
QareremiL(RS &)

The plant bit cultured in.glas¢vessel with medium is

called ———

ST 2 L&hewi & H60 2 6en 2oL &g Sl 60
auemisaLILGW STeljsg el u@GdHeow —————

6168TM)| BEMLPLLr 1N

6 AFN-1586




11.

12.

13.

14.

Section B (5 x4 =20)

Answer any five questions.

Each answer should not exceed 400 words.

Explain the principles of plant taxonon:y.

SMEUT UG LILITL 1q 63T S FI6euUd LM 6.1 6mhEHs.

Explain the floral characters ¢f Euphorbiaceae.

WCumrICwd &M wbugsieT weoFLl LiswwTLsener elleufl.

Bring out the uniqre features of the family Liliaceae.

691606l Cwd & Libusgdles sesfllul L LewTsemer LDHS

S([hHS.

Write-rhort notes on the structure and properties of

wood, what you have studied ?

My UIgs wrsslem e enwliLy WHMHLWD
W55 Dol

Bueoysemers UM &HSSLIS GHBILIL] 6T(LPSIS.
7 AFN-1586




15.

16.

17.

18.

Briefly explain about beverages.

LIT6UTBIG 6T LD &(HSSLONS 6Xl6nd@Hs.

Explain the double fertilization.

GrienL & smanisened eleulfl.

Give an account of endosperm:
eTessTGL_mev LT upM Q&M =& gl 61(1pS).

Write an account on the application of culture

techniques in crop ;1arrovement.

Luly euwrEHulle pesrGemmsSHlev euemriiL HiL Ligd)est

QeweurOameT QGTGHSS 61(PSI.

8 AFN-1586




Section C (2 x 10 =20)

Answer all questions.

Answer should not exceed 1000 words.

19. (a) Describe the beginning and development of

plant nomenclature.

FTaUTBISEHSE uwflGn wopuler CarHmbd
wHNID (PenrCarpnsHemest LN ellens@s.

(Or)

(b) Explain the cliaracteristic features of
verbenaceae ‘ard mention its economic

importance,

QeaurNGerai GO wusSHen LewTLHemen ellensdl
Seundlenn Cum@menngsrr (& w s g eus S e e
GHiE9Os.
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20.

(a)

(b)

Explain the structure and different types of

ovules.

LeGeum Gevaeflest gemwlienu eleuflés.

(Or)

Write an essay on protoplast culture, isolation

and purification.

HCrm G Wemmev auerTifed LNAS0sH S0
LOHDID STUEHWLWTEE;HO UDD @ &L (o
IS

10 AFN-1586




AFN-1587 BBO4C1

B.Sc. DEGREE EXAMINATION, APRIL 2011

Fourth Semester
Botany (Ancillary)

PLANT PHYSIOLOGY AND ENVIRONMENTAL
BIOLOGY

(Non-CBCS—2004 onwards)
Time : 3 Hours MMazmum : 50 Marks

Draw diagrams wherever necessary

SectiorA (10 x1=10)
Answer all'questions

Multiple Choice (5x1=5)
1. ——— gas evolves during Photosynthesis

(a) CO,.
(b) NO,.
(© O,.

(d) SC..
et Firrsamaullen Gung GCleuaflel(HIb eumwy.

(=) NO,,.
&) O,.

(/) SO,




Repture of seedcoat and break dormancy is namely

called as

(a) Vernalization.
(b) Guttation.

(c) Scarification.
(d) Respiration.

Nleng 2 empedw 2 LG5I YN 2 NHEH5M5

semenalms Qeualmm| 6o sns ILOSnG.
(&) QeuremrenevCageut.

() L GLaetr.

(8) evCafGacsur.

() Seundlgeo.
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3.

Interlocking food chain is called

(a) Energy flow.

(b) Ecological pyramid
(c) Food chain

(d) Food web

WenefllNememihg 2 ewrey
Semp&aLiLNSng ?

(S1) DMV L_L Ib.
() GrHlemeouduwied Camyrbd
(8) =_ewwreys smdlell.

(rr) 2 ewreyd emitled) Slesresren

Garbage.isa

(a) Licwid waste.
(b) Gaseous waste.
(¢) Industrial soild waste.

(d) Domestic solid waste

3

g il

6TeueUTm)
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‘GriGLER’ aeTLI)
(31) Slreusefley.
() aunyssifley.
(8) Cgnfihsreme SlLsafla).

() S (P2 uCursdls sley.

Chlorofluorocarbon is an

(a) Air pollutant.
(b) Fresh water pollutai.t.
(c) Land pollutant:
(d) Marine water pollutant.
&CemmCrrySernGrr ssmiyLies eTevTLIg)
(S31) sEDMILONE:.
Spon, WS TOTE:.
(@) Povwrs.

() sLev Biwns.
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Fill in the blanks bx1=5)

6. Dark reaction takes place in ———— Part of
Chloroplast.
QmLligelener Lamisaflasdear ———inssd 60
BenL_ClumIFng).

7. Respiration takes place in —wart of a cell

FaUnfl 5560 OlFevedlest ———— =60 BewL_OlLmS ).

8. Indiscreminate felling ¢trees is called

(PeODHWHM T Qeul_ (a6 _—
ETTMED PSS LILL NS DG

9. Electricity from wind is a ——— energy

s 5.3 (Hhg Cuplu@b Wererrorearg ————

F&HS M@ LD.

5 AFN-1587




10.

11.

12.

13.

14.

Biogas is a —— energy source.

2 Wiy erfleunyy eTeoTLIg) ————— F58) euenDMEGLD.

Section B (3 x4 =20)

Answer any five questions.

Each answer should not exceed 430 words.

Explain Ascent of sap.

gnml egHo UMM 696 @

Give a brief account ot Photorespiration.

efle seunsnd LA fni@nlly $ms.

What are the'methods of breaking seed dormancy?

NNenG - T5H5560G HENETWLD (LPEHMESET WITEn6 ?

Describe briefly about photoperiodism.

eflaasmeveilwed LN &HSBSWLNS eleufl&ss.
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15.

16.

17.

18.

Give an account on Food web.
2 oo & FmiledlL Llesteried LMM GBILIL H(Hs.

Write short notes on Acid Rain.

Silevwentp LN SAmGNLIL 6T(PSIs.

Explain Renewable resources.

HEILILNS88 Falq i euenmiseT Lifimisllend @s.

Give an account on Greer bouse effect.

ugen evev elemery IiDN GHOILIL SHS.

Section C (2x10=20)

Answer all questions, each not exceeding 1000 words

19. (a) Give an elaborate account on Absorption of water.

£r 2 piEhase updl dlflame GHUY Sms.

(Or)

7 AFN-1587




(b) Describe Photosynthesis in C, Plants

C, sreurmuseflen eaflleCarsamaamw elouflss.

20. (a) Give an elaborate account on Social Ferestry.

gWpsTwssrh&er unnl ellenssises GNLY S@HS.

(Or)

(b) Write an essay on causes, effects and control of

Water Pollution.

Brorsun_ e &rrewib, elememe] WLHMID

sLLui() upnl sL_(Dewr euenrs.

skkok
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AFN-1588 BZO0O3C1

B.Sc. DEGREE EXAMINATION, APRIL 2011
Third Semester

Ancillary—Zoology

CELL BIOLOGY, GENETICS AND EV2! . UTION
(Non-CBCS—2004 onward:)
Time : 3 Hours Meaximum : 50 Marks

Draw labelled diagram whercver necessary
Section A (6x1=6)

Answer all.auestions.

Choose the correct answer.:

1. Plastids areseenis.

(a) Bacteira.
(b) Fiantcell.

(c) “““nimal cell.

(a) ~ Fungus.

emmenvig L (D&eT srewtliLi(heug :

()  unseflum.

(=)  sreurblgev.



2.

(&) eleomis Glgev.
(Fe)  &memmenr.
RNA is abundant is:
(a) Nucleus.
(b) Nucleolus.
(c) Cytoplasm.
(d) Endoplasmicreticailam.

B Slev oy i. e1601. 67. YFin HrewTLILIOSTTDSH ?

(1))

(=)

)

Blupserfiiov.
BlupsefllGuimevstv.
oo FL_GLmllemmad.

steooTGL_mLSlenE euemevLiLl6tTenTon.
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3.

Genes located in Y chromosomes also called as :

(a) Holandric.
(b) Malandric.
(¢) Tetrandric.

(d) Mesandric.

Y &CrrCurGamibler o emen goomaenem Geueummiid

S| EMLPSHSEVNLD.

(3 Cammeomeseriqfls

(=)  omevmesuTLg G

(&) OLrresigils.

(/)  Beresciiqfls.

The offstring of two homozygous parents that are differ

in orly: one Gene locus is called as :
(a) Dihybrid.

(b) Monohybrid.
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5.

(c) Hybrid.

(d) Unhybrid.

@Cr @wm et Georselled wIMULL Brewr(
CamnCurenesenv QuUOHCoriseflen &L kensulen e

Beueunm| HePSHSEONLD.

() Qriewsd seoliyuifl.
(=) @DeDs seouyulf,
(@) seoLyuafl.
()  seolifleveor = .
The compound oxtained from Urey-Miller’s experiment
is:
(a) . F.otenoids.
() A.T.P. molecules.
(¢) Amino acids.

(d) Nucleicacids.
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w,Gr - Beveor puieflem (piqefled QLML L LI QLinEssT.
() yCrrleemi(ser.
(=)  6.19.19. pPeV&FnmISET.
(@) bGeutm gjblevmiser.

()  Bupsefls ollevmigs.

The golden age of Reptiles is ;
(a) Proterozoic.
(b) Mesozoic.
(¢) Cenozoi=.
(d) Paiceozoic.
serjeuesterMiflest GlLIMH&TEVLD eTevTLILI(D6US).
S (PSR eamfl.
(@) Qeorwdf emp
@) oiwmeowf emf.

()  Qzmeven udlfl 2erifl.
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10.

11.

Section B 6x2=12)

Answer any six questions.
All questions carry equal marks.

Each answer should into exceed %2 page.

Dictyosome.

198514 GuinGamb.

Metastasis.

Gl _L_mervL_ndlero

Diakinesis.

EOL_WITENSH6TTE 610

Pedigree analysis.

eubEme: ) L@GLILIMLE.

Criss-Cross inheritance.

SNISE LMISE UMTUlwb.
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12.

13.

14.

15.

16.

Albinism.

evSeflab.

Biogenetic law.

2 WlForys Gamur(®.

Allopatric Speciation.

8L _ssesflend Qest oy saLW0.

Homosapien.

CamrGior #mSlwiett.

Section C (8x5=15)

inswer all questions.
All questions carry equal marks.

Each answer should not exceed 1 page.

(a) «Liascribe the structure of a Bacterium.

@ unsleflugdlen enwLienu edleufl.

(Or)
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17.

18.

(b)

(b)

(b)

Explain the treatments for Cancer.

yon Crmlpane Sflgens (enmaenen ellend @s.

Write a note on D.N.A. finger printing.

Ig..6T601.67. 651760 LW P GBILICILI0E:5.

(Or)

Explain the inheritance night blindness.

Bna@m® Crmullen urroLflu sL_gggeme0 eleull.

Write a brief account on Geological time scale.

Bleoudliey &m6u L L 6UEneTsTEnIL S(H&HSHLONS 6T(LDSIS.

(Or)

Rescribe the experiment of Operin and Halldane.

guunflen - anreoGLem LfiCangamenenw elens@s.

8 AFN-1588




19.

20.

21.

Section D (2 x 8% =17)

Answer any two questions.
All questions carry equal marks.
Each answer should not exceed 3 pages.

Write an account on protein synthesis.

Urs 2-pusdl BeoLupid gb uphl e CsnGuy

6L6MIS.

Write an essay on the Syndromes in man.

weflgefleo asrewriiuihin Aewr_Crrbaset UM 6@

sL_(henr 61(LpS).

Give an account on the Biological Evolution of Man.

wesflgesfiss 2 ulflws uflewmnseng GlgnEsserfl.

sk
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B.Sc. DEGREE EXAMINATION APRIL 2011

Fourth Semester

Ancillary—Zoology

ANCILLARY : DEVELOPMENTAL BiCLOGY,
PHYSIOLOGY AND ENVIRONMENTAL BIOLOGY

(Non-CBCS—2004 onwards)

Time : 3 Hours M:ximum : 50 Marks

Draw diagrams wherzyer necessary.
Secticn A (6)
Multiple choice :— (2x1=2)

1. Vitamin A deficiency leads to:
(a) Night vlindness.
(b) .Colour blindness.
(- Beri-beri.

«d) Scurvy.

emeul_L Llest-A @emmunL_red gmu@b Crmu :

(1) wremevsaesT Grm.



2.

(=) Hnsemo.
(@) OQufl-Cufl.

(rr)  evsredl.

The woman reproductive cycle is nearly.

(a) 15days.
(b) 28 days.
(¢) 40days.
(d) 10days

Clueser QeI LI(H % &riom&l T6TTLIG) SHLDTTTS.

(@) 1Esmilser.
(b) 28 pr .
©) 40 prise.

(d) 10 pmiasen

AFN-1589




True or false : 2x1=2)

3. Test -tube babies are produced by in vitro fertilization.

Cangemens @LMLS &WLhHensssT Gleueflaaheanise epeold

2 (HeunssLiL(hElemmert.

4. Plants are the producers of the ecosysteia.

FLP6V LDETITL_ 0SS 60 STEUTRISET 2_ M1 5EUITETTSH6T 2 &LD.

Fill in the blanks :— 2x1=2)

5. CFL means

CFL etesugy ————

6. Rhodopsin is iound in the ——— cells of the eyes.

Crromlidicn eteoTLg Sevwnisefled o emom ————

Siem|seiflev snewTliLI(HEDE).
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10.

11.

Section B

Answer any six questions.

(6x2=12)

Each answer should not exceed 5-10 sentences.

Identical Twins

@55 QrlenLwi.

Graffian follicle.

Hrmwerr uredsdlerm,

Blastopore.

& HHCHTENG H162TMD.

Vitamin €

smeul_t_wlest C.

Arteriosclerosis.

swerfl Hig 5560
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12. Composition of Urine.

dAmiBilen GlLm@pL_se.

13. Phototaxis.

gerfl eLL 1D,

14. Green House Gases.

L&6emLD B)6060 EUMW|SE6T.

15. Narmada Bachan Ar doian.

BILST LTSI S LUSSLD.

Section C B3x4=12)

Answer any three questions.
Each answe. should not exceed one page or one to three
paragraphs.

16. Explain menstural cycle of Women.

Cluerstenflest eiCLIHSS spHSlemw elens @s.
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17.

18.

19.

20.

21.

Write about merits and demerits of Test-tube babies.

GLTLS GPHSSHT 2 HusSullen mesteno, Senioger Lip
61(LDGI5.

Write about Kidney stones.

fnifres spa GHSS (0SS

Discuss on balanced diet.

sfleldlg 2 ewrey @GNlas Neurdlss.

What are the cem sonents of Ecosystem ?

GLP6V 6B 0G5 l6n 2 MILIL|S6T Wnemeu ?

List out the impact of deforestation.

s1(&6r L1860 L@ elensmeaysemer LI 1g.u1ed (H.
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22.

23.

24.

Section D (2x10=20)

Answer any two questions.
Each answer should not exceed 3 pages..

Write about cloning technology. Add a note en merit

and demerits.

UiquInsss QSMPleomIL LD GHHISSH € (y3s SelenL_W
BerTenlo, Sewmsenenil LD fAm| DIy SHS.

Explain the mechanism o ccagulation of blood.

855 2 DSV Hew 0 INIFHEN60 66 G5,

Briefly writetavout Tamil Nadu Pollution Control

Board and its functions.

SOIPHI G s LU (R eumflwd unplujb SsenienLu

Cousv:euae GHDISHID & (HSHSHLONS 6T(LPSIS.

dkokok
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